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Ǳ��−G

���=EP� �$� 
��9�� 5$� � .$� 1�9�a	 ;� �F�^ ��? �-�
^&! 
�F	 
��*	 �!��� 
� TW+ Y
� ;� C*a� �a	 ��
$��D �#���! ����Q �	 
�E���+ � 1
����( �	 &
��D^ 1��	 $-�
^&�� 
�F	 1��
� 1�� � ��D&!

���� � ���	
 ���

A
 G )
��: $)�2�&! %��� Aut(X) ���� �	 �
 k��0 �	 X 1�9
; 
�)2 ���: �-D�	 C 1
����( ;� Ǳ&D A
 X �:�
$CP� ���:

�
 X $-D�	&! τ : G −→ Aut(X) TFD �	 )*�+
�!��2 A
 �X �	 G ;� T�3 A
 ;� 
�h�! ������ �����
$)�!��&! τ �	 CB*� Ǳ&D−G A


$-D�	&! X 1�9�*�+
�!��� mP�� G ;� �
��� A
 X �	 G T�3 �2

A 
 ��� � 2 � 	 X � 3� � 4 ! A 
 ;� C P� J
� B 3 Set � 2� 3� � 4 ! 1
� � �� ( 
� X Ǳ& D−G ��	 
 � �����
�	 ���#! J
�n �	 �
 &�*�+
�!��2 Y��o $X &
�P�� 1�2�p��� ���: 1�E	 G ;� τ : G → Bij(X) )*�+
�!��2

�q��D&! ���� %��� ���� %��2 �	 �(r ���� &+�#! %���&! T
s TFD

τ : G×X −→ X, (g, x) �−→ τg(x), q�$� r

�-�(&! t-n �
; m	�� 
 
� �(

� ux ∈ X � g�, g� ∈ G �2 1�;� �	 τg�g�(x) = τg�(τg� (x)) q"8�

$CP� G &���2 �W�3 e ux ∈ X �2 1�;� �	 τe(x) = e q_

$)�!��	 X �	 G jovT�3 �
 �$�$� 
� �-D &+�#! ��9=! )����E	 �� -��D&! w��! S�D �� Y
�

T�3 � CP� G k����!; ��3��4! �( &2��: &�#
r G� ]�F#! ���: T�3 &�#! �	 X �	 G CP�
 T�3 �T	�>! 
�
X XL $τ : G� −→ Aut(X) )*�+
�!��2 A
 ��
� J
�B3 �	 $CP� X �	 q-D�	&! (g�g�)� := g�g� %^ w�(��

$CP� Ǳ&D−G� A

$���: �(s CP�
 T�3 �F�^ ��! $)��(&! ���=EP� jo T�3 %���3 �	 T�3 gKUn� ;� w�x�

�



Ǳ��−G �� ��� �O

���U	�Q �	 Lg jo ��>E�� �g ∈ G �2 �	 �:� $CP� ���: G -��( `�+ ��	
� 
����

Lg : G −→ G, γ �−→ gγ, q�$� r

��>E�� %��( �p��E! �	 ��	��! J
�n �	 $)�	�
&! CP� G k� 1����!; ��3��4! �	 G ;� jo T�3 A
 �	 �)��( ��h� �

���U	�Q �	 Rg CP�


Rg : G −→ G, γ �−→ γg, q.$� r

$���:&! Tn�? k� 1����!; ��3��4! �	 G ;� CP�
 T�3 A
 �g ∈ G �2 �	

� 	 G T�3 A
 %^ A�( �	 $CP� �92��: Y�	 )*�+
�!��2 A
 ρ : G −→ G′ -��( `�+ ��	
� �����
��	��! J
�n �	 $)��(&! ��h� �
 τg = Lρ(g) jo ��>E�� 1� g ∈ G �2 �	 ����� "
�#� %���&! G′ 1����!; ��3��4!

$)�P
&! G′ �	 G ;� CP�
 T�3 A
 �	 �)��( �p��E! �
 σg = Rρ(g) CP�
 ��>E�� 1� g ∈ G �2 �	 �:�

_�Q -
-I� ;� Tn�? G ×H −→ G CD��� � CP� G ���: ;� &2��:� 
; H -� �( `�+ ��	 
 � �����
$)�	�
&! CP� G �	 H ;� CP�
 T�3 A
 �	 �w���� Y
� �	 $-
���	 �h� 
� �
 G×G −→ G

���U	�Q �	 Inng &��
� )*�+
�!��� 1� g ∈ G �2 �	 $CP� ���: A
 G )
��: � �����

Inng : γ �−→ gγg−�, γ ∈ G, q5$� r

$)�	�
&! CP� k��0�	 G ;� T�3 A
 �	 w���� Y
� �	 $)��(&! ��h� �


%���H $-�(&! T�3 τ : G −→ Aut(G′) mP�� G′ `��=! ���: �	 �( CP� &2��: G )
��: ��	
� �����
�_�Q

(g′
�
, g�)(g

′
�
, g�) := (g′

�
τg�(g

′
�
), g�g�), g�, g� ∈ G, g′

�
, g′
�
∈ G′, q,$� r

)�� _�6�n�? ���^ �( -�(&! "
�#� G′ ×G �	 &2��: 
�E0�P A
 %���H Y
� $)��(&! "
�#� G′ ×G ��3��4! �	 �

�-
���	 �h� 
� �
 �
; g�D �	 1�2)*�+
�!��2 $)�2�&! %��� G′ ∝τ G ���� �	 � �-�!�� )�>E*!

j : G′ −→ G′ ∝τ G, j(g′) := (g′, e), g′ ∈ G′,

p : G′ ∝τ G −→ G, p(g′, g) := g, g′ ∈ G′, g ∈ G,

s : G −→ G′ ∝τ G, s(g) := (e′, g), g ∈ G.

qG$� r

��� 8�B�� ����^ P = G′ ∝τ G �:� �J
�n Y
� 
�

{e} −→ G′ j−→ P
p−→ G −→ {e} q7$� r


� t��n s : G −→ P )*�+
�!��2 �2 � q7$� r ��+ �	 y�H� �� 8�B �� �2 �XF#8�	 $p.s = 1G ��K#	 � CP� y�H�
�	 �p��E! G′ ;� τg )*�+
�!��� ����:&! G′ �	 G ;� τ T�3 A
 "
�#� z3�	 qq7$� r 1��	 1��
�4�r p.s = 1G

� �92��:−G Y
��	��	 $CP� �-D -
-I� G′ ��!�� ���:�
; �	 �( �P ;� s(g) &�
�� )*�+
�!��� ;� C*�
�B3 g ∈ G

$-�E*2 &
�P�� �p��� 
� q7$� r �
ZL�
�4� y�H� 1�2�8�B��



�� ���� � ��
�� ����

� CP� &2��E! -#	 �	 1
���	 1�6+−C A
 V )
��: �CP� Y��o &�( C�#Q� C8�? Y
� 
� ��	
� �����
_�6�n�? $-�(&! T�3 V �	 &#�BN 
�U	 GL(V ) J
�n Y
� 
� $-D�	&! V &U0 1�2)*�+
�!��� ���: GL(V )

�p��E! Y�+^ J�(�? &#�BN �� 
�4� �	 _�Q �( ��D ���� $CP� V 
� Y�+^ J�(�? ���: V ∝ GL(V ) )�>E*! v )��
$CP�

1�2)*�+
�! ��K#	 � -�E*2 �3��4! 1�2���!; 1�
�� �9�^ Ǳ��D� �( )
��:&! �h� 
� �
 &
�9

����( �
���2

�EF��+ A
 �( )
��:&! �h� 
� �
 C 1
����( �
���2 ��y�H� %��	 �	 $-�E*2 �2�3��4! %^ Y�	 &
�9ED��� �9�^
g�D �	 1��� 
��H w�U! Y
� 
��F� ;� _��E�� 1��	 $�
�� ���� qC ;� X Ǳ&D �2 �	 
�E0�Pr &D�!��+ V : C −→ Set

�)��(&! ���3� �
;
$)��(&! ���=EP� V (X) %^ 1����!; ��3��4! ��� � X Ǳ&D ��0 1��	 X ���� ;� XL Y
� ;�

$)

�� ���&�( C8�? 
� $���:&! %^ 1����!; ��3��4! �	 G ;� T�3 A
 "
�#� w��! X Ǳ&D �	 G ���: T�3 �2

�� G ���� �� �	
 �� �
�� C′ ������� �� C ������� �� ������� �� F : C −→ C′ ����� ������ �����
����� ! F (X) ∈ C′ �� "��#� $�% �	
 �� &'�! X ∈ C

����^ �-D�	 )*�+
�!��� α : X −→ X �:� �-�(&! "
�#� Aut(F (X)) �	 Aut(X) ;� )*�+
�!��2 A
 F ()�*+�
A
 �G −→ Aut(X) `��=! )*�+
�!��2 �	 CD��� Y
� w�(�� �	 $CP� )*�+
�!��� A
 Fα : F (X) −→ F (X)

$-D�	&! F (X) �	 G T�3 %��2 �( -
^&! CP-	 G −→ Aut(F (X)) )*�+
�!��2

A
 �	 �)��( &>�� )*�+
�! %���3 �	 �
 C `��=! 1
����( A
 
� 1�9
; 
� )2 �9�� �:� ������	� ������
�$�$� ��
��: )F? %��{�2 �)�D�	 �ED�� F : Ciso −→ Ciso 
�EF��+ A
 �9�� �{���o $)�P
&! Ciso -
-� 1
����(

$CP� |�In
�2 � F (X) �	 G CP�
 T�3 A
 X �	 G jo T�3 �2 ����^ �-D�	 %�

�� ��E�( 
�EF��+ A
 F : C −→ C′ �:�

$���:&! w��! �
 F (X) �	 G jo T�3 A
 X �	 G CP�
 T�3

�� � 2 P (X) �� 3� 4 ! X `�� = ! �� 3� � 4 ! � 2 � 	 � ( P : Set −→ Set %� 

�� ( 
� E F �� + ��	 
 � ������
�2�3��4!�
; �	 P (X) −→ P (X ′) &
�>8� CD��� �X −→ X ′ CD��� �2 �	 � -�(&! ��h� �
 �
�2�3��4!�
;

� �-�(&! ��h� �
 �2�3��4!�
; �	 P (X) −→ P (X ′) &
�>8� CD��� �X −→ X ′ CD��� �2 �	 � -�(&! ��h� �

�3��4!−G A
 P (X) �� 3��4! �$�$� ��
��: �	 ��	 �J
�n Y
� 
� $CP� �3��4!−G A
 X )
��: $-
���	 �h�
CD��� �2 �	 �!� �-�(&! T�3 P %�{�2 -�( ������ Set 
� X Ǳ��D� �	 �{���o P−� : Set −→ Set 
�EF��+ $CP�
�2 P−� 
�EF��+ $�;�P&! �p��E! �
 q�2�3��4!�
; �	 ]�F#!r ϕ−� : P (X ′) −→ P (X) CD��� �ϕ : X −→ X ′

$�;�P&! ��h� P (X) ��3��4!−G� �	 �
 X `��=! ��3��4!−G

� 	 hR : C −→ Set %�

�� ��E�( 
�EF��+ $-D�	 C 1
����( ;� C	� � Ǳ&D A
 C )
��: ������ ������
���U	�Q

hR(X) := Hom(X,R) hR(ϕ)(f) := f ◦ ϕ q<$� r

�� 3��4! �	 G ;� CP�
 T�3 A
 X �	 G ;� jo T�3 A
 �ϕ : X −→ X ′ � f : X ′ −→ R �X ∈ C �9�^ 
� �(
1�E	 G� ;� &
�>8� )*�+
�!��2 ����^ �-D�	 `��=! )*�+
�!��2 τ : G −→ Aut(X) �:� $�;�P&! ��h� Hom(X,R)

$)�2�&! %��� τ∗ ���� �	 �
 Hom(X,R) &
�P �� 1�2�p��� ���:



Ǳ��−G �� ��� ��

A
 �	 X ��-!−G �2 $CP� jo 1�98�-!−A 1
����( ModA � �>�? A
 A )
��: ������	� �
����

� G ;� �
��� A
 ��
� %��	 �	 u���:&! "
�#� q�2&U0−A &�#
r �98�-!−A Y�	 1�9ED��� mP�� X �	 G ;� T�3

$-�(&! "
�#� X 1�98�-!�
; ��3��4! �	 G ;� T�3 A
 &�
��� Y��o �2 �$�$� ��
��: �	 ��	 &8��#! ��B#� �	 X

$CP� &�#! �	 X Ǳ&D A
 
� �63 ;� YE=: YaP �)
��E+�
ZL �( &
�2��� 
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Ãg = (Lg)∗eAe q�$5 r

�Le = �G %�o $)��(&! "
�#� ��!�+ Y
� �	 �
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((Lg)∗Ã)gf = Ae(L∗
gf) q��$5 r

�Y
��	��	 �
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�ρ = � ����F .1-�� �3����!�	� ρ : T −→ R ��� �� �����
�-3 XL $ρ(t) 	= � �	 t ∈ T )��( `�+ $�
�� 
��H I -���! R ;� �E*	 1��;�	 
� ρ(T) �CP� ����+ T %�o ()�*+�
� $CP� ~H��� Y
� $nρ(t) /∈ I �( �
�� ���� 1� n |�In � CB !

$-�( Ǳ�>8� �
 L(T) = L(R) )*�+
�!��
� -���E	 �( �
�-� ���� T −→ R &�*�+
�!��2 ��2 �( -�(&! J�B�� Y
�
$-2�&! ��4�� &#Q�! TFD �	 �
 
�( Y
� &#�BN )*�+
�!��
� �( &8�? 
�

���: 1��	 &�
��� τ : G −→ G : (V ) � CP� &2��E! -#	 �	 1
���	 1�6+−R A
 V )
��: ��	
� �����
τ CD��� �( ���:&! �h?K! $CP� GL(V ) &8 �B� L(V ) �( )
������ J�B�� <$.$5 ��
��: 
� $CP� V 
� G &8

$-�(&! Ǳ�>8� L(V ) �	 L(G) ;� L(τ) &�*�+
�!��2 � CP� �
Z[��*���=
�

1�2)*�+
�!�-��−Λ ���2 ;� TF�E! &8 �B�−Λ �L(V ) � ��-!−Λ A
 V ��>�? A
 Λ )
��: ������ ������
σ �	 CB*� ��-!−O �
 V $CP� σ : O −→ L(V ) )*�+
�!��2 A
 V 
� O �B�−Λ �
��� ;� 
�h�! $-D�	 V

$)�!��&!
�V &2��E! -#	 �	 1
���	 1�6+−R A
 
� G &8 �B� 1��	 �
��� �2 �( ��D&! �4�E� �$,$5 �� ! �	 ���� �	

$-2�&! w���� �
 V 
� L(G) &8 �B� ;� &�
���
R �	 R∗ &8 �B� $-
���	 �h� 
� �
 &>�>? ��-3� R∗ &	�Q ���: 1�E	 det : GL(V ) −→ R∗ )*�+
�!��2 ��?

�)��(&! C	�� $CP� &F


�+� 
-��� det : GL(V ) −→ R∗ �3����!�	� T���  ��89� L(V ) −→ R  9 �*' �3����!�	� ������ ������
�
��

�J
�n Y
� 
� $CP� α� = A � α� = e �	 GL(V ) 
� )0 A
 αt � A ∈ L(V ) )
��: ()�*+�

det∗e A =
d

dt
{detαt}

∣∣∣
t=�

q��$5 r
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�)

�� V ;� vn, · · · , v� �2
���	 ;� &
��−n �2 � qn = dimV �(r V �	 ω ��-�2�B��� ��+−n �2 Ǳ�;�	 %��(�

ω(v�, · · · , vn). detαt = ω(αtv�, · · · , αtvn) q.O$5 r

�Y
��	��	 �

ω(v�, · · · , vn). det∗e A =
d

dt
{ω(αtv�, · · · , αtvn)}

∣∣∣
t=�

=
∑
i

ω(αtv�, · · · , αtvi−�, αtvi, αtvi+�, · · · , αtvn)
∣∣∣
t=�

=
∑
i

ω(v�, · · · , Avi, · · · , vn)

= ω(v�, · · · , vn).trA

� $-2�&! �4�E� �
 �h� �
�! )F? w�U! Y
� �5$,$5 �� �6H �	 ���� �	 $det∗eA = trA ��4�E� 
� �(

�tr(AB) = tr(BA) �� A,B ∈ L(V ) �� Ǳ���� �)*+,( ������

�)

�� A,B ∈ L(V ) �2 Ǳ�;�	 �CP� &8 1�2�B� Y�	 )*�+
�!��2 tr : L(V ) −→ R %�o ()�*+�

tr(AB −BA) = tr[A,B] = [trA, trB] = � q.�$5 r

� $CP� &9
-	 R 
� �0^ C(��	 �(

�� CP� &8 ���: G )
��: ��	
� �
����

{ 0} ↪→ TeG ↪→ TG π−→ G −→ {e} q.�$5 r

�-�(&! Ǳ�>8� �
; g�D �	 &8 �B� 1�2)*�+
�!��2 ;� 1��8�B�� ��8�B�� Y
� $CP� <$�$. �� ! 
� �� 8�B��

{ 0} ↪→ (L(TeG)) ↪→ L(TG) −→ L(G) −→ { 0} q..$5 r

���� <$,$7 �	 �8�B�� Y
� %��	 y�H� J�B�� 1��	 $q���: ���� T
s 
� 5$G$5 �� ! �	r L(TeG) = TeG �4�
� 
� �(
$-�(&! Ǳ�>8� L(G) −→ L(TG) )*�+
�!��2 A
 G ↪→ TG ���E?� $��D

L 
0�/ ��;<8�� 0�/�� >�#

$CP� &	�6�n�? ���: G� ×G� � -��&8 ���: G� � G� )
��: ��# �� #� /�-01	2 ! �34 �����
&8 �B� 1�2)*�+
�!��2 ��� � -��&8 1�92��: Y�	 )*�+
�!��2 qi = �,� �(r pi : G� ×G� −→ Gi &����( �
��W�
�� �6H �	 ��	 $-�E*2 G� � G� w���E	 &���2 �W�3 e� � e� )
��: $-�E*2 L(pi) := L(G� ×G�) −→ L(G)i &
�>8�

�-�(&! T�3 &#�BN # %^ 
� �( CP� �
ZL ~
�#� �
; ���:�
� �5$,$5
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T(e�,e�)(G� ×G�) G�

G�

L(G� ×G�) L(G�)

L(G�)

�
p�∗(e

�
,e
�
)

�

#G
�
×G

�

�����
p�∗(e

�
,e
�
)

�

#G
�

�

#G
�

L(p�)

�����
L(p�)

�

�&U0 )*�+
�!��
�−R Y
��	��	 $-�E*2 )*�+
�!��
� 1���3 1�9��F�L

Te�,e�)(G� ×G�) ∼= Te�G� × Te�G� q.5$5 r

�1
���	 1�6+−R )*�+
�!��
� w��!

L(G� ×G�) ∼= L(G)� × L(G)� q.,$5 r

���:�
� �� ��P�	 )*�+
�!��
� Y
� �-D�	 &����( �
��W� qi = �,� �(r qi : L(G)� × L(G)� −→ L(G)i �:� $���:&!
���D&! �E0�P T
s �
ZL ~
�#�

L(G� ×G�) L(G� ×G�)

L(G�) L(G�)

����
L(p�)

�
�
�
�
�
�
���

L(p�)

�
α

���������

q� �
��� q�

)

�� A ∈ L(G�×G�) �2 Ǳ�;�	 $)��( T>E�! L(G)�×L(G)� �	 �
 L(G�×G�) &8 �B� 
�E0�P )�2��0&! %��(�
A′ ∈ L(G�×G�) �2 Ǳ�;�	 �	��! J
�n �	 $i = �,� �	 Ai = L(pi)A �( α(A) = (L(p�)A,L(p�)A) = (A�, A�)

&8 1�2�B� Y�	 )*�+
�!��2 �2 L(pi) %�o ��4�E� 
� $i = �,� �	 A′
i = L(pi)A′ �( α(A′) = (A′

�
, A′

�
) )

�� 1�

�)

�� �-�E*2

α[A,A′] = (L(p�)[A,A
′], L(p�)[A,A

′]) = ([A�, A
′
�
], [A�, A

′
�
])

�)��(&! "
�#� �w���� Y
� �	

[α(A), α(A′)] = α[A,A′] q.G$5 r

�)

�� i = �,� �( Ai, A′
i ∈ L(G)i �2 Ǳ�;�	 &�#
 Y
� �(

[(A�, A�), (A
′
�
, A′

�
)] := ([A�, A

′
�
], [A�, A

′
�
]) q.7$5 r

$CP� &8 1�2�B� Y�	 )*�+
�!��
� A
 α �"
�#� Y
� �	
�� U	�Q �	 CD��� �	 O� × O� _�6�n�? ��-! $-��&8�B�−Λ �� O� � O� � �>�? A
 Λ )��( `�+ ���&�(
$CP� &8 �B� Λ A
 O� ×O� J
�n Y
� 
� $)
��:&! �h� 
� �
 O� ×O� 1�E	 (O� ×O�) × (O� ×O�) ;� q�r

�	 _�Q �	 O� × O� &8 �B� ;� CP� J
�B3 O� � O� &8 �B�−Λ �� )�>E*! _�6�n�? ������ �����
$q�r ��U	�Q

��( )

��&! %�3s� %��(�
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 9 �*' .)��6 5�� �� �
�� �H�F ��8�3! g�^S6�C G� ×G� � 1�� 9 ���� G� � G� ����� ������ 
����
�
�� e��!�?�� L(G)� � L(G)�  9 �*' �� L(G)� × L(G)� ��8�3! g�^S6�C ��  ����� ��A� L(G� ×G�)

Y
��	��	 $CP� A� �2 � A� �2 Ǳ�;�	 [A�, A�] = � &�#! �	 &8 �B� A
 
� 1�
ZL ~
�#� �( )
�D&! 
�^��

$CP� �
ZL ~
�#� ��
ZL ~
�#� &8 1�2�B� _�6�n�? �( CP� YD�


&9
-	 &8 �B� 
�E0�P �	 L(R) = R �( CP� �-D �h?K! Ke BH �!� $L(Rn) = L(R)× · · · ×L(R) ��	
� �����
&#�� ���: Ǳ�;�	 (Tn) = Rn �	��! J
�n �	 $&9
-	 &8 �B� 
�E0�P �	 L(Rn) = Rn Y
��	�� 	 $CP� q7$.$5r

$Tn := Rn/Zn

��U	�Q �	 )*�+
�!��
� ι : G −→ G� � %�
�� ���: G� �&8 ���: G )
��: �R(G) # L(G) �+5 )6 75�� �����
$CP� qg ∈ G �(r g �−→ g−�

$ι∗e = −1TeG �� �����
ϕ∗g : TgG −→ TeG XL �CP� C	�� ϕ %�o $-
���	 �h� 
� �
 ϕ(g) = gg−� ��U	�Q �	 ϕ : G −→ G CD��� ()�*+�

��!� $CP� �=n

ϕ∗g = (Rg−�)∗g + (Lg)∗g−� ◦ ι∗g q.<$5 r

�Y
��	��	 �

ι∗g = −((Lg)∗g−�

)−� ◦ Tg(Rg−�) = −(Lg−�)∗e ◦ (Rg−�)∗e q.�$5 r

� $CP� ���� %�2�	 � ι∗e = −1TeG )

�� g = e Ǳ�;�	 %��(�

��( )
��� %��� ��	 %�2�	 
� ������	� �����
ι∗g = −(Lg−�)∗e ◦ (Rg−�)∗g (g ∈ G) q5O$5 r

T	�H �98�>E�� �	 ]��! CD��� mP�� �	 1��U>� �2 
� ι : G −→ G CD��� �	 ]��! CD��� �( CP� &�#! %�-	 Y
�

� � ���� ���=EP� %��E�! G ×G _�6�n�? -�=��! �	 G ×G −→ G _�Q 1�
Z[��*���=
� 
� �
 Y
� $CP� "�n��

$CP� �
Z[��*���=
� ι : G −→ G �4�E�
�B� 
�E0�P �	 ����2 A ��-!−Λ ;� CP� J
�B3 A� %�
�� &8 �B� $CP� Λ �	 &8 �B� A
 A � �>�? A
 Λ )
��:

��
; C(��	 �� ��P�	 �-D "
�#� &8

[A�, A�]
� := −[A�, A�] A�, A� ∈ A q5�$5 r

TG� � � L(G�) � TeG � � L(G) ����  �� � � �
�� /F /���� ���� G� �  9 ���� G ����� ������ �����
L(G) %�
�� &8 �B� (L(G))� �4�
� 
� �( uL(G�) = (L(G))� )

�� �.$.$5 �> �^U �� #  ����� �3����!�?�� T���

$-D�	&!

�2 �	 $L(I) = ι∗e )

�� ι : G −→ G� )*�+
�!��
� �
�! 
� ���	 
� g���! 1�21��: &F
 ���3� ;� XL ()�*+�
�W�3 [A�, A�] ∈ L(G) �	 %��(� �)��(&! ��h� �
 Te(I)Ai = −Ai ∈ L(G�) �W�3 qi = �,� �(r Ai ∈ L(G)

�Y
��	��	 $CP� )*�+
�!��
� ι ��
; �-D�	&! [−A�,−A�]L(G�) %��2 �( ���:&! ��h� −[A�, A�]L(G)�

[A�, A�]L(G�) = −[A�, A�]L(G) = [A�, A�](L(G))� q5�$5 r



'��3
4 ���"� �- ��� 55

� $CP� ���� %�2�	 �

��H��1�!  9 �*' R(G) � R= ������� ������ ��H��1�!  9 �*' L(G) . 9 ���� G ����� �)*+,( �����
Y
� 
� $)
��:&! &F
 TeG �	 �
 R(G) � L(G) .$.$5 �> �^U  ����� ��H����  �� �� �1-�� ! 
��� ������� ������

$R(G) = (L(G))� J
�n

�4 � E � 
� �X F# 8� 	 � - � E * 2 G� 
� C P�
 1� 9 8� > E �� %� � 2 G 
� j o 1�9 8� > E �� � ( �� D&! � h?K ! ()� * +�

� �( �L(G�) = (L(G))� )

�� <$G$5 ��
��: �	 ��	 ��9
��: &F
 ���3� ;� XL $R(G) = L(G�) � L(G) = R(G�)

� $R(G) = (L(G))� �4�E�

���K#	 $-�+
�!��
� &#�BN 
�U	 R(G) ∼= L(G) �( -2�&! %��� �EB8� ��	 zI	

�
3� ?�� L(G) ����F �1-�� ��MN O��#� G ��� �
��  9 ���� G ����� �)*+,( ������
� L(G) = (L(G))� Y
��	��	 � R(G) = (L(G))� �!� $R(G) = L(G) �( -�(&! _�4
� G 1�
ZL ~
�#� ()�*+�
� $CP� ���� %�2�	

$CP� |�In G -�B�2 &8 ���: C8�? 1��	 )F? Y
� XF3 �( -
� )�2��0 G TW+ 
�

�h� 
� �
 V 
� GL(V ) &#�BN �
��� � CP� &2��E! -#	 �	 1
���	 1�6+−R A
 V )
��: ��	
� ������
&F
 ��D&! &���2 �W�3 
� ]��! 1
���	 1�6+ �	 &����( 
�U	 �
 L(GL(V )) �( )��(&! �h?K! $)
��:&!
&F
 &���2 �W�3 
� 1
���	 1�6+ �	 �
 R(G) %���&! �$G$5 �	 ��	 $��D&! Tn�? L(V ) w���� Y
� �	 $C+�:

$L(V )� �C+�:

�% �45 3� �?�@%� A��!8 B�#

$q���: ���� ,$�$� �� ! �	r -
���	 �h� 
� �
 τ : G −→ Aut(G) &�0�� 1�9�*�+
�!��� mP�� k��0 �	 G T�3
T�3−G "
�#� $���: T
-B� �$�$� ��
��: yBN �	 L(G) &8 �B�−G �	 G ���:−G �( ��D&! w��! L 
�EF��+

�w�(�� ;� CP� J
�B3 �)��(&! 
��F� �
 G �	 &
�>8�

G
τ−→ Aut(G) L−→ Aut(L(G)) q5.$5 r

�	 G T�3 mP�� �( L(G) 
� G ;� &�
��� ;� CP� J
�B3 G `��=! &8 ���: &H�I8� �
��� ������ �����
$Ad(g) := L(τg) ���:&! Ǳ�>8� &�0�� 1�9�*�+
�!��� �	 k��0

)�� 6 5 ���� �
 �� � 3 � ��� !� 	 � ρ : G −→ G′ � 1 �� 9 ��� � G′ � G � �� � � ����� � �����
�
�� L(G′) � L(G) �� G′ � G  U�h9� ��HG��	� �� 
*3� /�����  ����−ρ
-��� �� L(ρ) : L(G) −→ L(G′)

����:�
� 1�
ZL ~
�#� ()�*+�

G G′

G G′

�
ρ

�
Inng

�
Innρ(g)

�
A
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�EF��+ � q��D ���� .$�$� �� ! �	r

$�;�P&! )2��+ �
 G &8 �B� J
�n �	 TeG ��B#� %�F!� .$.$5 �� �6H 
� # : TeG −→ L(G) &����( )*�+
�!��
�
Te(τg) : TeG −→ TeG CD��� J
�n �	 TeG �	 Ad(g) : L(G) −→ L(G) ������ �( ���:&! �4�E� 5$,$5 �� �6H ;�
�EB8� u&H�I8� �
��� ;� CP� J
�B3 �e>�H� �$�$. �� ! 
� J
�n �	 TeG �	 G T�3 �( -�(&! J�B�� �!� Y
� $CP�

$L(G) � TeG 1��: &F
 ���3�;� XL
�)�2�&! �'�
� &H�I8� �
��� 1��	 1��
� "�n�� �Ke 
s

5�� �� �A ∈ L(G) � 1-�� !  U�h9� J��	� Ad : G −→ Aut(L(G)) .
��  9 ���� G ����� ������ 
����
()��6

Ad(g)A := (Rg−�)αA q55$5 r

�)

�� 5$,$5 �	 ��	 ()�*+�

Ad(g)A = L(τg)A = (τg)∗A q5,$5 r

�)

�� �A ∈ L(G) T�8� �	 �!�

T (τg)∗A = (Rg−�)∗ ◦ (Lg)∗A = (Rg−�)∗A q5G$5 r

� $CP� ���� %�2�	 �

��D&! L(G) �	 G ;� CP�
 T�3 A
 "
�#� w��! CP�
 ;� 1�98�>E�� �	 k��0 �	 G T�3 �( -2�&! %��� Y
�
$-�(&! "�n�� �
 T�3 Y
� ������ Ke �3 &H�I8� �
��� �
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� ���

������ �� �
 ����!−� "#
$ # ����
� �����

� 1
���	 1�9��-�! Y�	 ��U	�
 d
� ���Q�! Y
� )9+ -��( $CP� �E=9� %^ &8 �B� 
� &8 ���: ;� 1����E*: J�3KN�
$C0���L )�2��0 %^ �	 �Q�? TW+ 
� �( �CP� &8��#! T�*���=
� J���#!

CD��4
 (� ��;����E−� 2��' ��=

$)�'�:&! JK
-B� ;� 1�E!�
�L−� ���: �e?KUn� X -�=��!−R �	 ������ �����
O T!�D R ;� ;�	 1��;�	 I �4�
� 
� $CP� X �	 )0 A
 t �−→ γt ��U	�Q �	 γ : I −→ X � CP� -�=��! X )
��:

�)

�� �J
�n Y
� 
� $)�2�&! %��� γ̇t := d
dtγt ���� �	 �
 γt ��U>� 
� γ �	 ]��! 
���	 $-D�	&!

γ̇tf =
d

dt
f(γt) f ∈ C∞(X) �2 Ǳ�;�	 q�$, r

$-2�&! |�Q�� Ke !�( �
 γ̇t �(

C8�? Y
� 
� $-D�	 JK
-B� ;� 1�E!�
�L−� ���: A
 (t, x) �−→ ϕt(x) �	 ϕ : R ×X −→ X )��( `�+ ��?
�)��(&! "
�#� 1� x ∈ X �2 Ǳ�;�	 $CP� X ;� JK
-B� ;� 1�E!�
�L−� ���: A
 ϕ � �( ��D&! �E=: Y��{�2

Ax :=
d

dt
ϕt(x)

∣∣∣
t=�

= ϕ̇t(x)
∣∣∣
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 �� X )i �1 * � ��  #Q� ! �� � !��� N−� ��� � � � ϕ : Iε × U −→ X � �� � � ����� � 
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∣∣∣
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((ϕt)∗B)xf = (B(f ◦ ϕt))(xt) = (Bf)(xt) + t(Bgt)(xt) q�.$, r

��4�E� 
� �

lim
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t
(Bx − ((ϕt)∗B)x) f = lim
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((Bf)(x) − (Bf)(xt)) − lim
t−→�

(Bgt)(xt)

= Ax(Bf) −Bxg� = Ax(Bf) −Bx(Af) = [A,B]xf
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((ϕs)∗[A,B])x = lim
t−→�

�

t
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�L−� ���: A
 �e!��8� Xt �( -2�&! %��� ,$.$, ��
��: ()�*+�

Ẋt(x) = ϕ̇t(ψt(x)) + Tψt(x)(ϕt)ψt(x) = AXt(x) + Tψt(x)(ϕt)Bψt(x) q�G$, r
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� $Ẋt(x) = (A+B)Xt(x) �4�E� 
� �
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�L−� ���: A
 ϕt � CP� -�=��!X )
��: ������	� �����
Y
� 1�
Z[��*���=
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; �� ! 
� �( 
�N %��2
$-D�	

$-D�	&! T ;� 1�E!
�L−� &2��:�
; R −→ R/Z = T &����( )*�+
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αt�+t� = ϕt�+t�(e) = ϕt�(ϕt�(e)) = (ϕt� ◦ Lϕt
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��: �� 
�h�

%�-�! A
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 � �E0�P )2��+ �
 Φ : L(G) −→ L(G) CD��� ;� YD�
 � )�>E*! &=�n�� )8 Y
�
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α̇t+s = Tαs(Lαt)α̇s = Tαs(Rα�)α̇s q�<$, r
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�L−� 1�92��:�
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�P�� �p��� Φ : Lg −→ L(G) J
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 �( Aeα̇� �e !��8 ����^ �α = Φ(A) 1� A ∈ L(G) A
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�# � Y��2 � 	 �( -2�&! %��� G$5$, )8
Y
� $-�>�#E! α mP�� �-D "
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 �	 τA = ϕ� �F�
� `�+ �	 J
�n Y
� 
� $��D&!

$CP� )*�+
�!��2
1�E!�
�L−� ���: Xt = ϕt ◦ψt G$.$, ��
��: �	 ��	 �J
�n Y
� 
� $-��( -�8�� �
 ψt � ϕt w���E	 A,B ∈ K )
��:

�-D&! C	�� -
�	 �( 
�N %��2 �Y
��	��	 $CP� A+B mP�� �-D -�8�� JK
-B� ;�

τA+B = X� = ϕ� ◦ ψ� = τA ◦ τB q.5$, r

�Y
��	��	 � t �−→ tA ;� CP� J
�B3 A �	 ��h� K 
� 1�E!�
�L−� ���: �
; %��(� $τtA = ϕt �( )��(&! �h?K!
���U	�
 
� X �	 A∗ ��h� M����( 1
���	 %�-�!

A∗
x =

d

dt
{τtA(x)}

∣∣∣
t=�

=
d

dt
ϕt(x)

∣∣∣
t=�

= Ax q.,$, r

� $CP� ���� %�2�	 � CP� &���2 �$G$, �� �6H 
� )*�+
�!��2 �C8�? Y
� 
� �( -2�&! %��� Y
� $-�(&! t-n
/��0 ����:&! g�U! X `��=! -�=��!−G �2 1��	 �$G$, �� �6H 
� �( σ : R(G) −→ D(X) )*�+
�!��2

�&�#
 ���( -2��0 XF#�! �
 τ : G −→ Aut(X) T�3 ;� 1���
�

σ : R(G) −→ D(X) � 1-� � 1 S W � 4 !−G�� X ��- ! l
� � τ : G −→ Aut(X) � �� � � ����� � �����
()��6 5�� �� �1-��  ��89� �3����!�	�

�
�� �� �� �� σ ����F c1-�� �+�>! �	
 .���� )��*
 ��` 1-�� �� �� �� τ ��� cd

�
3�� �W6 �' V�� ��4�� �� � 
�� �W6 �' �	� �� k4�S�� ������ /�1�! �� ����F .1-�� ���F τ �	
 ��� ca

�( �(σB)ϕt(x) = ϕ̇t(x) J
�n Y
� 
� $CP� ��h� 1�E!�
�L−� ���: �
; α ∈ L(G) � B ∈ R(G) )
��: ()�*+�
$ϕt = ταt

;� �CP� A
 �	 A
 τ %�o $t �2 � x �2 Ǳ�;�	 ϕt(x) = x � ϕ̇t(x) = � J
�n Y
� 
� $σB = � )��( `�+ q�
$B = � &�#
 $Be = α̇� = � � αt = e ��D&! �4�E� ταt = 1x
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1� t �2 Ǳ�;�	 �Z8 � ϕ̇�(x) = � qC	�� x �2 Ǳ�;�	r J
�n Y
�
� $ 1� x ∈ X A
 Ǳ�;�	 (σB)x = � )��( `�+ q�
�CP� ��;^ τ %�o $CP� ��=	 �WI�! ϕ�(x) = x 1;�x^ S�D �	 ϕ̇t(x) = (σB)ϕt(x) _��� ��
; �ϕt(x) = x

$σB = � �Z8 � B = � TBH T ! � αt = e �( -�(&! _�4
� �C	�� x A�'�;�	 ϕt(x) = ταt(x) = x Y
��	��	
σB = � � B = � 1�2�
��: q�$, r �	 -
�B� �Z8 �CP� A
 �	 A
 �e !��8� ��;^ T�3 �2 �( )
�D&! 
�^��
r
� q$-�8��#!

$���:&�� �4�E� τ : G −→ Aut(X) %��	 A
 �	 A
 �σ : R(G) −→ D(X) %��	 A
 �	 A
 ;� �( ��D ����

�� ! �	r ���:&! w��! G′ �	 G ;� τ = L ◦ ρ T�3 A
 ρ : G −→ G′ &
�>8� )*�+
�!��2 ��	
� �����
YF�! R(ρ) $σ = R(ρ) : R(G) −→ R(G′) ;� CP� J
�B3 &
�>8� )*�+
�!��2 �J
�n Y
� 
� � q��D ���� 5$G$,
g�U! ρ : G −→ G′ A
 �	 A
 ��x &�*�+
�!��2 CP� &+�( $-D�B� τ = L ◦ ρ �( &8�? 
� �-D�	 A
 �	 A
 CP�

$CP� %^ ;� 1������ R −→ R/Z = T &����( )*�+
�!��2 $CP� A
 �	 A
 k��h� Teρ : TeG −→ TeG
′ �( ��D

$)��( &P
�	 �-D g�U! J�#+� �	 Ke BH �( &�( -
� %��2 ;� �
 �a	 Y
� ��F?� )��( &#P ������	� �����
A
 )*�+
�!��2 A
 7$G$, �	 ��	 �( �
�� X �	 ����! &��3 Y
� $)��(&! ��-��H &8 ���: A
 %���#	 �
 Aut(X) �-E	�
�	 T!�( 1
���	 1�9��-�! �� �2 �� 3��4! ���^ �
�W� �( CP� &#�BN $-�(&! Ǳ�>8� σ̃ : R(Aut(X)) −→ D(X) A
 �	
$-�(&! _��0 �
 ��o ��2 �!� Y
� � -2� T�F�� &8 �B� A
 1��3��4! Y��o �( �
�-� &!��8 �!� $)
���	 �h� 
� X
�2 � C*�� &�F�! �CP� ����+ X �( &E8�? 
� $)�2� &��>� R(Aut(X)) �	 �
 
�(Z! �B� �( CP� Y
� ��
� 
�(
q�( ��D 
�W� 
�N Y
�r -����&! τ : G −→ Aut(X) T�3 �2 J
�n Y
� 
� $-D�	&! T!�( �e!��8� 1�1
���	 %�-�!
)*�+
�!��2 ��$G$, �� �6H �	 ��	 �J
�n Y
� 
� $-�( "
�#� R(τ) : R(G) −→ R(Aut(X)) TFD �	 &�*�+
�!��2

$σ = σ̃ ◦R(τ) w�(�� ;� CP� J
�B3 �e>�H� σ : R(G) −→ D(X)

1�9��-�! &8 �B� Kil(X) � -�(&! T�3 X -�=��! �	 �( CP� �
ZL ~
�#� &2��: G )
��: ������ ������
$CP� ��
��� Kil(X) �	 G T�3 �	 CB*� Kil(X) ;� �63 �2 �( -�2� %��� $-D�	&! X �	 M����( 1
���	
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�#� σ : R(G) −→ D(X) )*�+
�!��2 �	 %�

��&'�(� 1�9ED��� 1
�:;�P )�2��0&!
�	��! &�*�+
�!��2 �	 )
���	 �h� 
� X �	 G ;� &EP�
 T�3 �{���o �( CP� YD�
 $)�2� %��� �
 jo T�3

$)�P
&! σ : L(G) −→ D(X)

��( )��(&! C	�� �-E	�

������ ��H��1�! �� 
W' �� ”A′
�
, A” � ”A′

�
, A” � 
-��� ϕX −→ X ′ .1SW�4!X ′ � X ����� �� �����

�A′
�

= A′
�
����F .1-�� �-�N ϕ ��� �14�3� X ′ � X �� T*��!−ϕ

�	 A
 ϕ∗ XL �f� = f� ����^ �-D�	 �D�L ϕ �:� �Z8 � f� ◦ ϕ = f� ◦ ϕ ��D&! �4�E� ϕ∗f� = ϕ∗f� ;� %�o ()�*+�
;� A′

�
= A′

�
�J
�n Y
� 
� �( u-D�	 �
ZL ~
�#� �
; ���:�
� &E*
�	&! �%��	 mB��!−ϕ "
�#� �	 ��	 �!� $CP� A


� $���:&! �4�E� ϕ∗ %��	 A
 �	 A
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CX CX

CX CX

�
ϕ∗

�

A

�
ϕ∗

�

A′
i (i = �,�)


 * 3 � X ′ � 
 �� 1 S W � 4 !−G� � � τ : G� −→ Aut(X) � 	 
 � � 
 * 3 � X � �� � � ����� � �����
� 1 -� � ! � 3 � ��� !� 	 � � � ρ : G −→ G′ � 
 �� 1 S W � 4 !−G′� � � τ ′ : G� −→ Aut(X)′ � 	 
 � �
� σ : L(G) −→ Kil(X) ↪→ D(X)  ��8 9� ����3� ���!�	� �
�� /� ���� 2���−ρ
-��� �� ϕ : X −→ X ′

�
 � -�( T�3 ���� ! 
�U	 X �	 G �:� $-
���	 �h� 
� �
 �$G$, �> �^U �� @�A! σ′ : L(G) −→ Kil(X)′ ↪→ D(X)′

����:�
� �( �
�� ���� γ : Kil(X) −→ Kil(X)′ 1��=	 �WI�! CD��� ����^ �-D�	 �D�L ϕ �F�
�

L(G) Kil(X)

L(G)′ Kil(X)′

�
σ

�
L(ρ)

�
γ

�
τg

$-D�	&! &8 1�2�B� Y�	 )*�+
�!��2 A
 CD��� Y
� � �;�P&! �
ZL ~
�#� �


$-�UB��!−ϕ )2 �	 σ′(L(ρ)A) � A∗ = σ(A) 1
���	 1�9��-�! ��$G$, ��
��: �	 ��	 $A ∈ L(G) )
��: ()�*+�
�J
�n Y
� 
� $-D�	 A
 �	 A
 τ : G� −→ Aut(X) ��
� J
�B#	 u-�( T�3 ����! 
�U	 X �	 G )��( `�+ �-E	�
�
�� ���� ��=	 �WI�! A ∈ L(G) A
 A∗ ∈ Kil(X) �2 Ǳ�;�	 �Y
��	��	 $CP� A
 �	 A
 ��� σ �7$G$, ��
��: �	 ��	

$γ(A∗ := σ′(L(ρ)A) )��(&! "
�#� $σ(A) = A∗ �(
�	 σ′(L(ρ)A) � A∗ = σ(A) 1
���	 1�9��-�! �$7$, )8 �	 ��	 %�o $A ∈ L(G) � CP� �D�L ϕ )��( `�+ ��?
TBH C8�? T ! �
 γ %��(� $-�(&! "
�#� ��=	 �WI�! J
�n �	 �
 A∗ %�-�! σ′(L(ρ)A) XL �-�UB��!−ϕ )2

$)��(&! "
�#�
$���:&! �4�E� �CP� )*�+
�!��2 γ CD��� �$5$5 )8 �	 ��	 �F�
� � σ : L(G) −→ Kil(X) &
�D�L ;� γ &
�EF
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)*�+
�!�R=
� A
 ϕ : X −→ X ′ �:� $CP� �$7$, �>��?� �� /�<	� 
�#Q� 1�4� ;�� �)*+, ( 
����
�CP� �
ZL ~
�#� �
; ���:�
� ����^ �-D�	 %�

��&'�(�−ρ

L(G) Kil(X) D(X)

L(G)′ Kil(X)′ D(X ′)

�
σ

�

L(ρ)

� �

�

γ

�

ϕ∗

�
τg

� �

� $ϕ∗
∣∣∣
Kil(X)

= γ Y
��	��	 $-�UB��!−ϕ )2 �	 ϕ∗C � C ����^ �C ∈ D(X) �:� ()�*+�

CP�
 ;� T�3 A
 mP�� �-D "
�#� τg−� : X −→ X )*�+
�!�R=
� �
�! 
� �
 )F? Y
� )�2��0&! %��(�
��( )
�D&! �(ZE! �-E	� $)
�B	 
�F	 τ : G� −→ Aut(X)
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�
�� /����� 2���−τg �� τg−� : X −→ X �� �����
� 1� γ ∈ G �2 Ǳ�;�	 %�o ()�*+�

ττg(γ) ◦ τg−� = τgγg−� ◦ τg−� = τγg−� = τg−� ◦ τγ q.G$, r

�CP� �
ZL ~
�#� �
; ���:�
� XL

X X

X X

�
τ

g−�

�
τγ

�
τInng(γ)

�
τ

g−�

��( )��(&! S�B�EP� 
�U�
� .$7$, ��4�E� ;� �Y
��	��	

� 
 �� 1 S W � 4 !−G� � � τ : G� −→ Aut(X) 
 ��� � 	 
 � � 
 * 3 � X � �� � � ����� � �����
�CP� �
ZL ~
�#� �
; ���:�
� �J
�n Y
� 
� $CP� �$G$, �> �^U ��  ��89� �3����!�	� σ :−→ Kil(X) ↪→ D(X)

L(G) Kil(X) D(X)

L(G) Kil(X) D(X ′)

�
σ

�

Adg

� �

�

(τ
g−� )∗

�
σ

� �

�B�−G A
 D(X) ��D&! w��! (τg−� )∗ = αg �( CP� YD�
 ���K#	 $Ad(g) = L(τg) �( )
�D&! 
�^��
 �9��
�)

�� ���K#	 $CP� CP�
 ;� T�3 τ ��
; ���D &8

 U�h9� J��	� �
�� 1SW�4!−G��� τ : G� −→ Aut(X) �3����!�	� �� 
*3� X ����� �)+-. �����
 U�h9� �3����!�	� .)��6 5�� �� �1����� �7� �� �� αg = (τg−� )∗ �> A��Q �� D(X) �� G �	
 � L(G) �� G

�
�� /����� 2��� σ : L(G) −→ D(X)

(0�!�� .A∗ = σ(A) $��7� /�1�! � A ∈ L(G) �� Ǳ���� .5�����4�

(τg−�)∗ = σ(Ad(g)A) q.7$, r

������ ! k4�S�� ������ ��H��1�! �� �� k4�S�� ������ ��H��1�! τg .�Y��� �
�� ���U��

����:�
� 1�
ZL ~
�#� �J
�n Y
� 
� $-�( T�3 k��0 �	 CP�
 ;� ��>E�� �	 G )
��: ��	
� �����

L(G) D(G)

L(G) D(G)

�
σ

�

Adg

�

(R
g−� )∗

�
σ

$-D�	&! .$7$5 ��
��: %��2 �e>�H� �-�(&! Y��6� ��	 �� �6H �(
�Aut(D(X)) 1�
ZL ~
�#� ���:�
� $CP� A
 �	 A
 �����! 1�9�!�3 �
�! 
� σ �7$G$, ��
��: �	 ��	
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L(G) D(X)

L(G) D(X)

�
σ

�

Adg

�

αg

�
σ

$���� ��B#� %��E�! G &H�I8� �
��� ;� &=�n�� %���#	 �
 α : G −→ Aut(D(X)) �( -2�&! %���

� 3 � ��� !� 	 � � � 
�� � � � � � � τ : G� −→ Aut(X) � 3 � ��� !� 	 �  � U� � H 4 � �  � U� ��  �����
�1-�� �� �� �� αg = (τg−�)∗ �>A��Q �� α : G −→ Aut(D(X))

�1�9ED��� w�(�� ;� CP� J
�B3 α ()�*+�

G −→ G −→ Aut(X) −→ Aut(D(X))

g �−→ g−� �−→ τg−� �−→ (τg−�)∗

&
�P�� ��� ∗ XL �ϕ = 1X � Txϕ = 1TxX ��D&! �4�E� ϕ∗ = 1D(X) �	 g ∈ Aut(X) ;� %�o � CP� &
�P�� I
A
 �	 A
 &EH� �9�� � &EH� )2 %^ � �-D�	 A
 �	 A
 ∗ ◦ τ �( CP� A
 �	 A
 α &EH� �9�� � &EH� �Y
��	��	 $CP�
� $-D�	 τ �( CP�

�)

�� �
ZL ~
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� ��� τ : G −→ Aut(X) jo T�3 �
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� ������	� �����
R(G) D(X)

R(G) D(X)

�
σ

�

R(Inng)

�

δg

�
σ

��:-
� �	 )2 ;�	 -�'��	 $CP� %�

��&'�(� R(G) � D(X) �	 G qjor ���3� �	 CB*� σ �Y
��	��	 � σg(τg)∗ �(
-�(&! T�3 X �	 jo ;� &#�BN 
�U	 Aut(X) �J
�n Y
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� $)���-	 ���: &8 �
 Aut(X) � )
���	 ;�	 %�!��0 &�(
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�L CD����
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 τ̃ : R(Aut(X)) −→ D(X) &�*�+
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����:�
� 1� ϕ ∈ Aut(X) �2 Ǳ�;�	 ����:&! �-2��! Ke �3 �(

R(Aut(X)) D(X)

R(Aut(X)) D(X)

�
σ̃

�
R(Inng)

�
ϕg

�
σ̃

CD��� ;� &#�P�� ϕ∗ : D(X) −→ D(X) �( )��(&! �h?K! �-D�	 A
 �	 A
 σ̃ �{���o $CP� �
ZL ~
�#�
�( )��(&! �-2��! <$7$, )8 
� ��-EP� � 	 $-D� 	&! R(Aut(X)) 
� Aut(X) &H�I8� �
�� � �( �CP� R(τϕ)

$<$7$, )8 �	 ��	 CP� A
 �	 A
 σ̃ XL $CP� A
 �	 A
 ��
���&! ϕ∗ �	 �
 ϕ �( Aut(X) ∗−→ Aut(D(X))
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 ;� &E!�
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$-D�	&! &B8�� 
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� C8�9P ��4
� C9� �	 XL Y
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$)��(&! ���=EP�
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A ∈ TeG �2 Ǳ�;�	 expA := α� q�$G r

���� �	 $CP� G$G$, 1��6H 
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β�= t
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d
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d
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f(αst) = t
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��:

exp(t(A +B)) = exp(tA). exp(tB) q�$G r
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���� ��  	3����!�	� exp : TeG → G ����F .1-�� ��MN O��#� G  9 ���� L(G)  9 �*' ��� ������ �����
� �
�� G ���� TeG  #	' ������

$-
���	 �h� 
� �
 �
; �� ! �exp ��9=! %-D ��YD�
 C9� �	

�h?K! <$.$5 ��
��: 
� $G = GL(V ) � CP� &2��E! -#	 �	 &>�>? 1
���	 1�6+ A
 V )
��: ��	
� �����
���: �
; α ∈ L(G) � A ∈ L(V ) )��( `�+ �%��(� $L(G) = L(V ) )

�� TeG � L(G) 1��: &F
 � 	 �( )
��(

��( )��(&! �-2��! �C8�? Y
� 
� $CP� k��h� 1�E!�
�L−�

exp(tA) = αt = etA =
∞∑
n=�

�

n!
(tA)n q.$G r

�J
�n Y
� 
� �βt = etA =
∑∞

n=�
�

n! (tA)n )��( `�+ �w�U! Y
� J�B�� 1��	

.

β=
∞∑
n′=�

n

n!
(tA)n−�A = βtA q5$G r

�-��(&! t-n %�*F
 1;�x^ �
��>! �	 T�*���=
� �8��#! A
 
� β � α %�o Y
��	��	 $α� = 1V � .
αt= αt

.
α� A �!�

$α = β XL
$CP� �=Wn "8�a! &>�>? ��-3� &	�Q ���: GL(V ) = R∗ J
�n Y
� 
� $V = R ��	 �� ! 
� -��( `�+
exp : R → R∗ CD��� �J
�n Y
� 
� �%^ �	 &9
-	 &8 �B� 
�E0�P q�9��r �	 ����2 R ;� CP� J
�B3 R∗ &8 �B�

$CP� t �→ et &8��#! &
��� CD��� %��2
��F�
� &�#
 $)�2�&! %��� �
 exp %��	 &#�BN %��(�

(P������ .)��6 5�� �� �
�� �3����!�	� �� ρ : G→ G′ ����� ������ �����

TeG Te′G
′

G G′

�
ρ∗e

�

exp

�

exp

�ρ

q,$G r

$CP� �
ZL ~
�#� q&#Q�! 1�9ED��� ��B#� �	r

�J
�n Y
� 
� �-D�	 G 
� A �	 ��h� 1�E!�
�L−� ���: �
; αt = exp(tA) �:� $A ∈ TeG )
��: ()�*+�

(ρ◦ .
α)(t)

∣∣∣
t=�

= ρ∗e
.
α�= ρ∗eA qG$G r

� $CP� ���� %�2�	 � exp(ρ∗eA) = ρ(expA) )

�� t = � Ǳ�;�	 � �exp(tρ∗eA) = ρ(exp(tA)) Y
��	��	

�)

�� ���	 )F? ;� 1��	
�( %���#	

�exp(Ad(g)A) = g expAg−� �� A ∈ L(G) �� � g ∈ G �� Ǳ���� �)*+,( �����
T�3 TeG 
� &H�I8� �
��� �TeG �	 L(G) 1��: &F
 ;� XL �( ��D ���� $Ad(g) = L(τg) "
�#� �	 ��	 ()�*+�
� $-�(&!
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$-D�	&! G$�$G ��
��: ;� 1��
� ��	
�( T
s w�U!
$CP� L(V ) �	��	 GL(V ) &8 �B� �<$.$5 ��
��: �	 ��	 $-
���	 �h� 
� &2��E! -#	 �	 V &>�>? 1
���	 1�6+ A

&8 1�2�B� )*�+
�!��2 A
 Ǳ�>8� w��! det : GL(V ) → R∗ )*�+
�!��2 ���$,$5 ��
��: �	 ��	 �J
�n Y
� 
�

$-�(&! C	�� &
��� CD��� %��	 &#�BN $���:&! tr : L(V ) → R

� �det(expA) = exp(trA) �� A ∈ L(V ) �� Ǳ���� �)*+,( �����
�
�-� &!��8 �( -2�&! %��� �
; �� ! $�
�� 
��H G ���: G� 1-�B�2 �� =8�� ! 
� exp : TeG → G CD��� �
�W�

$-D�	 �D�L �G -�B�2 &8 1�92��: �
�! 
� &E? �exp CD���

$CP� -�B�2 &8 ���: A
 Y
� $CP� A
 %���!��� �	 �× � 1�9*
���! ���: SL(�,R) )
��: ��	
� �����
$C*�� �D�L exp �( -�(&! _�4
� Y
� $C*�� &#	�! �( �
�� ���� SL(�,R) 
� 1�W�3 �)�2�&! %���

�)
��:&! �h� 
� �
 k��Wa�! 1����� -�o � g ∈ SL(�,R) )
��:

det(λI� − g) = λ� − λtr(g) + det(g) q7$G r

�	 $g� − tr(g).g+ I� = � &U0 �B� ;� 1���6H �	 ��	 �Z8 � det(g) = � %��(� $CP� g X
���! ��� ���
��� tr(g) �(
$tr(g)� = (tr(g))� − � ≥ −� )
��:&! �4�E� ���� @	�� ���3�

l = g� �� 8��#! XL tr(l) < −� �F�
� T�8� �	 $-
���	 �h� 
� �
 SL(�,R) ;� l =
( −� �

� −�/�
)

�W�3 %��(�
$CP� _��� -H�+

1
��� 	 %�-�! mP�� �( X 
� ϕt JK
-B � ;� 1�E!�
� L−� ���: A
 � X -�=� �! A
 ������	 � ������
�h� 
� Aut(X) ;� 1�E!�
�L−� &2��: �
; %���#	 �
 ϕt �{���o $-
���	 �h� 
� �
 CP� �-D -�8�� X 
� A∗ `��=!

�)�*
��	 &8 1�92��: T ! CP� �4	 �)
���	

ϕt = exp(tA)∗ q<$G r

� α ∈ L(G) )��( `�+ ��� � �)
���	 �h� 
� τ : G → Aut(X) &�*�+
�!��2 J
�n �	 �
 X �	 G T�3 �:� ��?
�	 A ∈ �:� �
 uταt := exp(tA∗) "
�#� �	 ��	 J
�n Y
� 
� �CP� α mP�� �-D "
�#� M����( 1
���	 %�-�! A∗

�����^ �αt = exp(tA)

τexp(tA) = exp(tA∗) q�$G r

�-�(&! %��	 �
 �
; ���:�
� 1�
ZL ~
�#� �!� Y
�

TeG Kil(X)

G Aut(X)

�
σ

�

exp

�

exp

�τ

q�O$G r

1��	 CP�
 C�P ��D�: 
� $CP� g → Aut(X) T�3 mP�� &
�>8� )*�+
�!��2 σ : TeG→ Kil(X) ↪→ DX �(
$-�2�&! &�#! Aut(X) 
� T!�( 1
���	 %�-�! �9�� &
��� CD��� mP�� ��
; �)�*
��	 DX )�����&�� ��	 ���:�
�

$CP� qwP��! 1�2
�EF��+ Y�	r &#�BN T
-B� A
 exp CD��� ��� C8�? Y
� 
� &E? �Y
��	��	
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�6H� e 
�!� �0 �	I�� �!�������J*�0 exp ��>

�
��  ��	� .exp : TeG→ G T���  ��89� T� exp : TeG→ TeG]�	!  A% 
-��� ������ �����
�)

�� A ∈ TeG Ǳ�;�	 ()�*+�

exp∗�A = exp∗tAA
∣∣∣
t=�

=
{

exp∗tA .
d

dt
(tA)

}
t=�

=
d

dt
exp(tA)

∣∣∣
t=�

= A

� $CP� ���� %�2�	 �

�)

�� ]�F#! @	�� �� �6H yBN �	 �Y
��	��	

� � 1 ���� �� '� /� 4 = G �� e �� Ne ��� �  � �� 3 	 � � TeG �� o �� N� ��� �  � �� 3 	 � �) + - . �����
� �
��  #Q�! �3����!�\W�� exp : No → Ne

$-�(&! "
�#� e ��? G 1��	 &�
�o log CD��� $)�2�&! %��� log : Ne → No �	 �
 %�
�� CD���

A
 � G 
� e ;� No ;�	 &�
�*�2 A
 ;� w(�! (Ne, log) V�; ;� C*�
�B3 G &����( J
�o ������ 
����
$-D�	&! exp

∣∣
No

�E+�
 -
-I� &
��� CD��� %�
�� �( log : Ne → log(Ne) = No ↪→ TeG &#Q�! )*�+
�!�R=
�

$���:&! �(s �$�$G �� �6H ;� TW+ K	 1��	
�( �Ke 
s

.1-�� ��MN O��#� L(G) ��� �
�� /F  ��	� �E4
 �14*	� �> W9�> ! G� �  9 ���� �� G ��E� ������ �����
�
3� ?�� G� ����F

exp : TeG → G CD��� 5$�$G ��
��: �	 ��	 %�o $�
�� �	 
� �
 G 
� e ;� U ;�	 &�
�*�2 A
 exp �
�W� ()�*+�
;� �63 �� �2 Y
��	��	 �-�( -�8�� �
 G� -����&! U �!� $-�E*2 ~
�#� T	�H )2 �	 U ;� �63 �� �2 $CP� )*�+
�!��2
� $-���:&! ~
�#� )2 �	 )2 G�

�)

�� �O$G$5 ��4�E� ����2 �	 �
��: Y
� ;�

G �� 
�� ��MN O��#� G  �U� �H4� �  �U� .)��6 5�� �� �
�� 14*	�  9 ���� G ����� �)+-. �����
� �1-�� ��MN O��#�

�� �� �� L(ρ) : L(G) → L(G)′  �U� �H4 � �  �U� �
�� �3����!�	� ρ : G → G′ ����� ��  �����
�1-�� c�-�N .&�����` �� �� �� �� g ∈ G �� Ǳ���� ρ∗g �� 
�� c�-�N .&�����`

��( ��D&! �4�E� γ = e Ǳ�;�	 ρ(gγ) = ρ(g)ρ(γ ;� ()�*+�

ρ∗g ◦ (Lg)∗e = Te′Lρ(g) ◦ ρ∗e q��$G r

�Y
��	��	

ρ∗g = (Lρ(g))∗e′ ◦ ρ∗e ◦ ((Lg)∗e)−� q��$G r

� $CP� ���� %�2�	 �
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$CP� �D�L exp : L(G) → G J
�n Y
� 
� $CP� -�B�2 &8 ���: G )
��: ������ �����
G′ )
��: $CP� )*�+
�!��2 exp : L(G) → G ����^ �-D�	 �
ZL ~
�#� L(G) �:� �( -D �h?K! 5$�$G 
� ()�*+�
CD��� 1� A ∈ L(G) �2 Ǳ�;�	 �G$�$G )8 �	 ��	 �Z8 � CP� &���2 CD��� T� exp �J
�n Y
� 
� $-D�	 %^ �
�W�

$G′ = G �4�E� 
� uCP� G ;� q�E*	 �r ;�	 ���: �
; A
 G′ �Y
��	��	 $CP� )*�+
�!��
� TA exp

&#�BN �	 ��	 $CP� G 1��	 &����( J
�o (Ne, log) )
��: $-
���	 �h� 
� ρ : G → G′ &#Q�! &�*�+
�!��2
�)

�� 1� g ∈ Ne �2 Ǳ�;�	 qG$�$G &�#
r exp CD��� %��	

ρ(g) = exp(L(ρ) log(g)) (∗) q�.$G r

$�
�� �
; g�D �	 &
�2��	
�( � CP� L(ρ) mP�� ρ
∣∣
Ne

Y��#� 1��	 �;� S�D Y
�

 ��89� ��*' ��H	3����!�	� ��� �14�3�  #Q�! �3����!�	� .i = �,� �� ρi : G→ G′ ����� ������ �����
/F �� ρ� � ρ� �� ���� ��'� G �� e �� U ����  ���3	� ����F .14-�� m*A4! .i = �,� �� L(ρi) : L(G) → L(G)′

�148*A4!

�2 Ǳ�;�	 �( -2�&! %��� (∗) �� U	�
 J
�n Y
� 
� $)
��:&! G 1��	 &����( J
�o A
 �� �!�� �
 U = Ne ()�*+�
� $ρ�(g) = ρ�(g) 1� g ∈ U

.L(ρ�) = L(ρ�) ��� �14�3� �3����!�	� i = �,� �� ρi : G → G′ � 
�� 14*	� G ����� �)*+,( �����
�ρ� = ρ� ����F

� $-�(&! -�8�� �
 G T( �e ;� &�
�*�2 �2 ()�*+�

� -�B�2 &8 1�92��: 1
����(�
; �	 L : Lieloc → LieAlg 
�EF��+� �( ��( ��B#� Y��o %���&! �
 �4�E� Y
�
�$CP� t��n �&2��: 1�9�*�+
�!��2

$)

�^&! �
 �0^ )F? ;� 1��	
�( �Ke 
s

�
�� G �> �3� ZG �� .Ker(Ad) = ZG )��6 5�� �� �
�� 14*	� G ����� ������ ������
Y
��	��	 $τg = 1G �( ���:&! �4�E� L(τg) = 1L(G) ;� �)
-
� Ke BH �( 
�N %��2 �!� $Ad = Log "
�#� �	 ��	 ()�*+�
� $CP� ���� %�2�	 � Ker(Ad) = Ker(τ) = ZG

& 8 1� 2� B � Y � 	 ) * � +
� !� � 2 A 
 m P� � & 
� > 8� G → G′ & # Q� ! ) * � +
� !� � 2 C 0� P �� 8�� * ! %� � (�
T → R &�*�+
�!��2 ��2 mP�� LT → LR )*�+
�!��
� �( )
�D&! 
�^��
 $)
��:&! �h� 
� �
 L(G) → L(G)′

$C*�� CP
� &�( C8�? 
� w�U! Y
� XF3 �Y
��	��	 $���:&�� Ǳ�>8�

�
��  9 ����*' 5�� �3����!�	� �� h : L(G) → L(G)′ � 1��  9 ���� G′ � G ����� ������ ������
 ��89� G→ G′  #Q�! �3����!�	� 1�1h� ρ ��� .)��6 5�� �� �
�� G �� e ��  ����� )��= �� (Ne, log) �����

��- �� ρ  �3��� ����F .1-�� h T���

ρ = exp ◦h ◦ log : Ne → G′ q�5$G r

 ��89�  #Q�! �3����!�	��� .n�� "��#� �� ρ : Ne → G′ ����F .14-�� ��MN O��#� L(G)′ � L(G) �<��4= �1-��
�
�� h T���
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1��	 5$�$G �	 ��	 $CP� TFD Y��2 �	 �e !��8� Ne �	 G → G′ &#Q�! )*�+
�!��2 �2 -
-I� �( )
-
� ()�*+�
$CP� TeG �	 G ;� &#Q�! )*�+
�!��2 ��� log �Z8 � �CP� G �	 TeG ;� &�*�+
�!��2 exp ��
ZL ~
�#� L(G)

�( CP� YD�
 �J
�n Y
� 
� $CP� &
�>8� )*�+
�!��2 L(ρ) : L(G) → L(G)′ )
��: $CP� )*�+
�!��2 ρ Y
��	��	
� $L(ρ) = h �( -2�&! %��� Y
� $-D�	&! h %��2 �e>�H� ρ∗e : TeG→ TeG

~
�#� `�+ %�-	 &E? �h : L(G) → L(G)′ &8 �B� )*�+
�!��2 A
 mP�� �-D "
�#� ρ : Ne → G′ CD���
T��I� �	 )F? Y
� )�>E*! J�B�� �!� $-�(&! Ǳ�>8� �
 h � CP� G→ G′ )*�+
�!��2 A
 )2 L(G)′ � L(G) 1�
ZL
���
� &D�
�	 7 TW+ 
� $��D ���� �$5$G ��
��: ;� XL �5$G �a	 %�
�L 
� CD����
 �	 $�
�� ;��� ��Q�! �E>��3
Ǳ�>8� �
 h : L(G) → L(G)′ `��=! &8 �B� )*�+
�!��2 -����&! �( C0�P )�2��0 g → G′ &#Q�! &�*�+
�!��2
)*�+
�!��2 A
 ��$�$G ��
��: 
� �-D "
�#� ρ : Ne → G′ CD��� �w���� Y
� �	 $q���: ���� .$�$7 �	r -�(

$CP� &#Q�!

�N�	�! CD��� τ : G→ Aut(X) � -�( T�3 ���� ! 
�U	 X -�=��! �	 G &8 ���: -��( `�+ ������ ������
�2 Ǳ�;� 	 g ∈ G &EH� �9� � � &EH� �( -�2� %��� $CP� X � 	 M��� �( 1
��� 	 1�9��-�! &8 �B� Kil(X) � -D� 	

$-D�	 G 
� G� 1-�B�2 ��=8��! ;�P �(�! 
� g �( -�(&! t-n (τg)∗A = A S�D 
� 1� A ∈ Kil(X)

�% 2��' ��;��H ���;<� ��>

$)��(&! ;�x^ �
; )9! )F? J�B�� �	

�1-�� ! ?�� �����N �� 
�� ��*' ��*#� ��  	3����!�	� α : R → G �  9 ���� G ����� ������ ��
��
���� ��� �� ���� )��*
 �� �
��  S�Sh� α �M9 � αt = exp tA �� ���� ��'� /�4= �� A ∈ L(G) )��6 5�� ��

�
�� G �� ���!���N−�

$V V ⊆ U �( CP� G 
� e ;� 1�&�
�*�2 V � CP� G &����( J
�o A
 (U, log) )
��: ()�*+�
1�E!�
�L−� ���: �
; $-��D&! "
�#� �� �2 log g� � log g � g� ∈ V V ⊆ U �J
�n Y
� 
� $g ∈ V )
��:
�
; Y
� �	 )2 g� �W�3 $exp(log g) = g �( ���:&! �h?K! t = � Ǳ�;�	 $-
���	 �h� 
� �
 G ;� f �→ exp(t log g)

�&�#
 $log g� = � log g Y
��	��	 $g� ∈ U ��
; exp(log g) = g ���
� 1�P ;� $g� = exp(� log g) ��
�� 
��H ���:
$���:&! �a�! g� mP�� T!�( 
�U	 g Y
��	��	 � g = exp(�

�
log g�)

�	 t �2 Ǳ�;�	 �( �
�� ���� %��o 1� ε > � �J
�n Y
� 
� $-
���	 �h� 
� �
 α : V → G �� EP��L )*�+
�!��2 ��?
"
�#� %��(� $q‖λt‖ ≤ � �( )��(&! `�3 λt �	 t J
�n Y
� ��x 
�r ε = � )��( `�+ $αt ∈ V )

�� |t| ≤ ε

�WI�! �TBH zI	 �	 ��	 �Z8 � �CP� V 
� g ;� ��� �� �

 A
 exp(�
�

log g) �J
�n Y
� 
� $α� := g ∈ V )��(&!
Y
� 
��F� � 	 $logα�/� = �

�
A )

�� A = logα� `�+ � 	 ��4�E � 
� $α�/� = exp(�

�
log g) Y
�� 	� � 	 $CP� ��= 	

�)

�� %��( @�� �	 X[P � log(α�/�n) = �

�nA �( ��D&! �h?K! ��-EP�

log(αρ/�n) =
p

�n
.A 1� p ∈ N

∗ � � ≤ p ≤ �
n �	 p �2 Ǳ�;�	 q�,$G r

-D C 	� � �Y 
�� 	� � 	 $logαr = rA ) 

�� � ≤ r ≤ � � ( r 1� � �� 1� 
� : �-3 � 2 Ǳ�;� 	 � ( - 2�& ! %� � � Y 
�
� $αt = exp(tA)

$)��(&! ���=EP� ���a8� )*�+
�!��2 A
 C8�? �	 �$.$G )��#� 1��	 T
s )8 ;�
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�� �
�� N � M ������ ����^�M ×N ��8�3! g�Q TeG 1�4� ;�� �
��  9 ���� G ����� �� ��
��
(�>A��Q �� ϕ : M ×N → G
-��� .)��6 5��

ϕ(A,B) = expA. expB A ∈M,B ∈ N q�G$G r

�
�� o ��  #Q�! �3����!�\W�� ��

$C P� ) * � +
� !�� 
� T ◦ ϕ : M × N → TeG � ( ) � 2� %� � � C P� & +� ( �%�
�� @ 	� � �� � 6 H � 	 � h � ()� * +�
�2 Ǳ�;� 	 �Y 
�� 	� � 	 $-D� 	&! m : G × G → G _�Q CD�� � ��� 
�� � m �( �ϕ = m ◦ (expM × expN ) %� � (�

�)

�� 1� (X,Y ) ∈M ×N

ϕ∗�(X,Y ) = m∗(e,e)(expM∗�(X), expN∗�(Y )) = exp∗�(X) + T� exp∗�(Y ) = X + Y q�7$G r

� $-D J�B�� )F? � CP� &���2 ��� ϕ∗� �Y
��	��	 $CP� &���2 exp∗� CD��� �$�$G )8 �	 ��	 ��
;

��-#� ;� TeG = M� × · ×Mn &	�6�n�? C8�? �	 %���&! �
 )8 �( CP� YD�
 ��EB8� ������	� 
�
��
$��� )��#� Mi ⊆ TeG 1
���	 1�6+ �
; &2��E!

$)��(&! g�U! ��� �
 T
s )F?

��MXS�3���W�� e �� ρ ��� �
�� ��*'  4#! ��  	3����!�	� ρ : G→ G′ �  9 ���� G′ � G ����� �� ��
��
�
�� c S�Sh�` ��MXS�3���W�� �' �	� �� ρ ����F .1-�� c S�Sh�`

� $CP� &9
-	 )F? ρ ◦ Lg = Lρ(g) ◦ ρ �	 ���� �	 ()�*+�

�)��( C	�� �� )

��H %��(�

?�� �����N �� �
�� ��*'  4#! ��  	3����!�	� ρ : G → G′ � 1��  9 ���� G′ � G ����� �)+-. ��
��
�
��  9 ��H���� 5�� �3����!�	� . 4#� K
��  S�Sh� ρ .)��6 5�� �� �
3�

%��o 1� A′ ∈ TeG
′ �Y
��	��	 $CP� G �	 R ;� �EP��L &�*�+
�!��2 t �→ ρ(exp(tA)) �p��� $A ∈ TeG )
��: ()�*+�

$ρ(exp(tA)) = exp(tA′) �( �
�� ����
%��o �
 �2 A′

i X[P � -�2� T�F�� TeG 1��	 1��
�L qi = �,�, · · · , n = dimG �(r �2 Ai )��( `�+ ��?
�Y
��	��	 $ρ(exp(tAi)) = exp(tA′

i) � A′
i ∈ TeG

′ �( )��(&! _�aE��

ρ(
n∏
i=�

exp(tiAi)) =
n∏
i=�

exp(tiA′
i) q�<$G r

���U	�Q �	 ϕ : Rn → G CD��� �J
�n Y
� 
�

ϕ(t�, · · · , tn) =
n∏
i=�

exp(tiAi) q��$G r

�( �
�� ���� %��o G 
� e ;� V ;�	 &�
�*�2 �Y
��	��	 $CP� O 
� &#Q�! )*�+
�!�R=
� A
 �$.$G CD����
 �	 ��	
%��(� $-�
�� &�E*	 g �	 &���I� 
�U	 �2 ti �( �CD�� %���&! g =

∏n
i=� exp(tiAi) J
�n �	 �
 1� g ∈ V �2

���!�+

ρ(
n∏
i=�

exp(tiAi)) =
n∏
i=�

exp(tiA′
i) q�O$G r

� $CP� &���I� ρ CD��� 5$.$G �	 ��	 ��4�E� 
� $-2�&! %��� �
 e &���2 �W�3 
� ρ %��	 &���I�
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� i = �, · · · , n �( ��D&! ���#! ρ∗e(Ai) = A′
i 
�->! n �	 �9�� ρ∗e : TeG→ TeG

′ CD��� ������	� ��
��
$n = dimG

?� �  9 ���� /��4
 �� ����F .�p�9�N� � ���� /��4
 �� G = G′ ��� �1��  9 ���� G′ � G ����� �� ��
��
�G = G′

� CP� A
i�8�L�� 1�92��: )*�+
�!��2 G → G′ &���2 CD��� XL �G = G′ 1i�8�L�� ���: %���3 �	 �:� ()�*+�
� $CP� )*�+
�!�R=
� ,$.$G �	 ��	 �Z8

$CP� %^ 1����!; 1i�8�L�� ���: &:�
� Ke �3 �&8 ���: A
 �	 �p��E! &8 �B� �( -2�&! %��� )F? Y
�
A
 ���
� J
�B3 �	 �-�
�� �
 &8 ���: 
�E0�P k�
ZL %�F!� 1i�8�L�� 1�92��: ��-( ��( ��D&! g�U! ����P Y
�
�	 %^ 1i�8�L��r -D�	&! 
�:;�P )2 ��h� 1i�8�L�� �	 �( -��
ZL&! &2��: 
�E0�P �	 
�:;�P �
Z[��*���=
� 
�E0�P

�qCP� &F
 &
�>8� 1i�8�L��
C	�� -�P
 ��o �	 ��,� ��P 
� �( Ann. of Math �� �4! ,G ��
��D ;� ��� �� ��. J�I=n 
� %�*��: $� $^

$CP� &8 ���: �&2��E! -#	 �	 � �
ZL A
�E! �-�B��2 �����+ �e#Q�! G 1i�8�L�� ���: �2 CP� ���(

�)*�+�−G3� �/ 6/�9 K�,8 �0 0�/�� #�>

1�9��-�! &8 �B� �� ��P�	 -�=��!−GA
 �	 C	�� S�>� 1��	 1��Wa�! ���	 zI	 ;� 1��	
�( %���3 �	 �a	 Y
� 
�
�)��(&! ;�x^ �
; )8 �	 $)��(&! &+�#! M����( 1
���	

&#Q�! JK
-B� ;� &#Q�! 1�E!�
�L−� ���: ϕt � X �	 1
���	 %�-�! A
 A �-�=��! A
 X )
��: �� �����
$Ax = � �( CP� ϕt JK
-B� ;� A
 �2 C	�� ��U>� A
 &EH� �9�� � &EH� x ∈ X ��U>� $CP� A mP�� �-D -�8��

$Ax = � )��( `�+ �XF#8�	 $Ax = � Y
��	��	 � .
ϕt (x)

∣∣
t=�

= � ��D&! �4�E� �ϕt(x) 1� t �2 Ǳ�;�	 �F�
� ;� ()�*+�
%^ _��� ��K#	 � CP� qt �2 Ǳ�;� 	r ϕt(x) = x _��� 1�
�� .

ϕt (x) = Aϕt(x) T�*���= 
� � 8��#! �J
�n Y
� 
�
� $CP� ��=	 �WI�!

�S� �	 JK
-B� ;� 1�E!�
�L−� ���: �2 �Y
��	��	 $�
�� �=n S� ���( v �� �	 1
���	 %�-�! �2 ��	
� �����
$�
�� C	�� ��U>�

-H�+ 1
���	 %�-�! �F�
� 1��	 &+�( � �;� S�D �J
�n Y
� 
� $CP� ����+ -�=��! A
 X )��( `�+ ���&�(
`�+ �! �( )
�D&! 
�^��
r $��D �=n -�=��! %^ X (X) �
�F���L v �8�� ��Wa�! �( CP� Y
� ���D C+�
 X �	 �=n
�	 X ����+ -�=��! A
 �	 JK
-B� ;� 1�E!�
�L−� ���: �2 XL $q-��
Z[��*���=
� �1
���	 1�9��-�! ���� )
����(

$CP� C	�� ��U>� 1�
�� X (X) 	= �

 9 � *' Kil(X) � 1 4 � �	
 X � � τ : G → Aut(X) T�� � G 14 *	�  9 ��� � 1 � 4 � ;�� ����� � 
����
�� A∗Kil(X) �� Ǳ���� �� 
�� ������−G�� x ∈ X �>A8�  �U� �H4� �  �U� �1-�� X �� k4�S�� ������ ��H��1�!

�A∗
x = �

A∗ �( �A∗
x = � Y
�� 	� � 	 � ταt(x) = x )

�� 1� α ∈ L(G) �2 Ǳ�;� 	 $-D� 	 ��
�� �−G A
 x )� �( `�+ ()� * +�

Ǳ�;�	 ��$5$G )8 �	 ��	 $A∗
x = � 1� A∗ ∈ Kil(X) �2 Ǳ�;�	 )��( `�+ �XF#8�	 $CP� X �	 ��h� M����( %�-�!



7, �/0"��−G8� 
4 �4�; K�L: �3 3
4�� �-�@

G 
� e ;� U ;�	 &�
�*�2 A
 $CP� &#Q�! )*�+
�!�R=
� exp %�o �%��(� ταt(x) = x )

�� 1� α ∈ L(G) �2
�2 Ǳ�;�	 �Z8 � -�( -�8�� �
 G -����&! U XL �CP� -�B�2 G %�o $τg(x) = x 1� g ∈ U �2 Ǳ�;�	 �( �
�� ���� %��o

$τg(x) = x 1� g ∈ G

�9�� � &EH� $-
���	 �h� 
��
 V �	 G -�B�2 &8 ���: ;� τ : G → GL(V ) &�
��� � V 1
���	 1�6+−R A

1
���	 %�-�! �G$,$, �� ! �	 ��	 ��!� A∗

v = � 1� A∗ ∈ Kil(X) �2 Ǳ�;�	 �( CP� ��
���−G A
 v ∈ V �� U>� &EH�

� L(G) ;� L(τ) : L(G) → L(V ) &
�>8� �
��� $A∗

v = (τ∗e)
.
α� v ;� CP� J
�B3 α ∈ L(G) �	 �p��E! A∗ M����(

)�D�	 �ED�� A ∈ L(G) �2 Ǳ�;�	 �( CP� ��
���−G &EH� �9�� � &EH� v ∈ V �( ��D&! �h?K! $-
���	 �h� 
� �
 V
�CP� �
; "
�#� g�N 1��	 1������� �!� Y
� $(L(τ)A)v = �

M ;� &�
��� σ : M → L(V ) � 1
���	 1�6+−∧ A
 V �&8 �B�−∧ A
 M �%�-�! ∧ )
��: ������ �����
$σ(A)v = � 1� A ∈M �2 Ǳ�;�	 �( )�'�: ��
���−M �
 ��
��� &�
�n 
� �
 v ∈ V �W�3 $CP� V 
�

$)

�� ���	 zI	 y	�U! �Y
��	��	

 G��	� τ : G→ GL(V ) .14*	�  9 ���� �� G . ��4�! 1#� �� ������ ��^�−R�� V ����� ������ �����

�� ������−G  �U� �H4� �  �U� v ∈ V �E4
 �
�� V �� L(G)  ��89� J��	� L(τ) : L(G) → L(V ) � V �� G ��
� �1-�� ������−L(G) ��

$)
��:&! 
�F	 �CP� �
ZL ~
�#� G �( &8�? 1��	 �
 .$5$G ��
��: ���?

(149��#! ��� T���- �1-�� 1SW�4! X ����� ������ �����
������−G �� x ∈ X ���A8� .τ : G→ Aut(X) �	
 �� � G �1#�−n � ��MN O��#� .14*	�  9 ���� �� Ǳ���� cd`

����� ��'� .1-��

�
�� 
��+ �>A8� ����� X �� Rn  #	' ���� �	
 �� ca`

.x ∈ X ���A8� .ci, j = �, · · · , n ��` [Ai, Aj ] = � �� �!�� ������ ��H��1�! �� An, · · · , A�  ��� n �� Ǳ���� cq`
����� ��'� ri = �, · · · , n �� Ǳ���� Aix = �s ��

$CP� &9
-	 (�) ⇒ (�) �F�
� ()�*+�
$[Ai, Aj ] = � 1� i, j = �, · · · , n �2 Ǳ�;�	 �( -�� X �	 T!�( 1
���	 1�9��-�! An, · · · , A� )
��: (�) ⇒ (�)

�( ��
�� ���� X �	 K ;� &��3 �G$G$, ��
��: �	 ��	 $-
���	 �h� 
� �
 An, · · · , A� mP�� �-D -�8�� K &#�� ���:
J
�B3 Rk &#�� ���: �	 K $CP� T�3 Y
� �	 �p��E! M����( 1
���	 1�9��-�! �B� ;� J
�B3 K �
ZL ~
�#� &8 �B�
qCP� wP��! 1�-3 k ≤ n �(r R

k &#�� ���: �	 K $CP� T�3 Y
� �	 �p��E! M����( 1
���	 1�9��-�! �B� ;�
��	r x C	�� 1��U>� �( �-�(&! Ǳ�>8� X �	 Rn &#�� ���: ;� &��3 X �	 K T�3 �Y
��	�� 	 $-D�	&! �
�!��
�
1� i = �, · · · , n �2 Ǳ�;�	 ��
�	 � CP� A �=n A
 x 1� A ∈ K �2 Ǳ�;�	 �.$5$G ��
��: �	 ��	 ��? $�
�� q`�+ �	

$Aix = �

�	 G ;� T�3 A
 τ : G → Aut(X) �CP� G 1-#	−n � �
ZL ~
�#� �-�B�2 &8 ���: A
 G )
��: (�) ⇒ (�)

;� &2��EP� An, · · · , A� )
��: $dim Kil(X) ≤ n )

�� $CP� M����( 1
���	 1�9��-�! &8 �B� Kil(X) � CP� X
&(�E�! x ∈ X �=n �`�+ �	 ��	 $[Ai, Aj ] = � 1� i, j = �, · · · , n �2 Ǳ�;�	 J
�n Y
� 
� $-D�	 Kil(X) 1�2-8�!
�	 ��	 � CP� M����( 1
���	 1�9��-�! ;� A
 �2 �=n x J
�n Y
� 
� $�
�� ���� 1
���	 1�9��-�! Y
� �� �2 1��	

$CP� ��
���−G A
 x �.$5$G ��
��:
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1� m ≤ n �2 Ǳ�;�	 �J
�n Y
� 
� �-D�	 
��H�	 �a�! 1� n Ǳ�;�	 G$5$G ��
��: S�D q;� A
 �2 �Z8�r A
 �:�
$CP� 
��H�	 g�Q� �	 ���

t-n G$5$G ��
��: m
��D ;� A
 ��2 
� �n -#	 � 	 G �
ZL ~
�#� &8 ���: �2 �� ��!; -�=��! �( CP� YD�

1��
�� � 1
��� 	 1�9��-�! ;� &
� � n �2 � �
�- � C	� � �� U> � ��2 �CP�
 ;� 1�98�> E �� � 	 G � 	 G� T�3 $-�(&��

$-�
�-� �=n �
�(Z! 1
���	 1�9��-�! ;� A
 ��2 � CP� [Ai, Aj ] = � 
� t��n An, · · · , A�

Y
� �	 �e>�H� n = � Ǳ�;�	 G$5$G ��
��: q.r S�D �J
�n Y
� 
� $-
���	 �h� 
� �
 S� ���( v �� ��	
� �����
�.< J�I=n 
� ���8 $� $1 $-D�	&! X (S�) 	= � ;� 1��4�E� �( ��
�� �=n S� �	 1
���	 %�-�! �2 �( CP� &�#!
� $CP� 
��H�	 n = � Ǳ�;�	 q�r S�D �( ��� %��� �OG5 ��, -�� �AMS M�
-P��L ;� �5� ��

��)�
 ����� =�>

&F
 TeG �	 �
 L(G) �TW+ Y
� 
� �( )
�D&! 
�^��
 $)��(&! &P�P� ����=EP� G %��	 &���I� ;� �a	 Y
� 
�
$)
��E+�:

��'� /�4= �� ε > � )��6 5�� �� �A ∈ L(G) � 
�� g ∈ G ��  S�Sh�  #��� f ∈ CG ����� ������ �����
(�� ����

f(g. exp(tA)) =
∞∑
n=�

tn

n!
[Anf ](g) 1� |t| < ε �2 Ǳ�;�	 q��$G r

�<$5$, ��
��: �	 ��	 �J
�n Y
� 
� $f ∈ CG )��(&! `�+ ��-E	� ()�*+�

[Af ](g) =
d

dt
f(g. exp(tA))

∣∣∣
t=�

q��$G r

�)

�� n = � Ǳ�;�	 �( -�(&! C	�� Y
�

[Anf ](g) =
{(

d

dt

)n
f(g. exp(tA))

}
t=�

q�.$G r

�)

�� n Ǳ�;�	 q�.$G r &EP
� � t+ u = v `�+ �	 $)��(&! J�B�� 1� n �2 Ǳ�;�	 Ǳ��>EP� �	 (∗) )F?

[An+�f ](g) = [An(Af)](g) =
{(

d

dt

)n
(Af)(g. exp(tA)

}

=
{(

d

dt

)n
d

du
(g. exp(tA). exp(uA))

}
t=�,u=�

=
{(

d

dv

)n
d

dv
f(g. exp(vA))

}
v=�

$-2�&! %��� �
 n+ � 1��	 (∗) 1
��H�	 �(
� 1� |t| < ε �2 Ǳ�;�	 �( �
�� ���� %��o 1� ε > � ����^ �-D�	 &���I� g 
� f �:� ��?

f(g. exp(tA)) =
∞∑
n=�

tn

n!

{(
d

dt

)n
f(g. exp(tA))

}
t=�

=
∞∑
n=�

tn

n!
[Anf ](g)

� $CP� ���� %�2�	 �w���� Y
� �	 �

$)��(&! ���=EP� -#	 w�U! J�B�� 1��	 )F? Y
� ;�
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�� |t| < ε � � Ǳ��� � � �� ε > ��� Ǳ��� � � � 1-� � L(G) �� ����� � ��G �� 	 � O(t�) � �� � � ����� � �����
(����� .�=��  ��� �>��1��� t � A,B ∈ L(G) �� Ǳ���� .)��6 5�� �� �1-�� ��1���� �  S�Sh� �

t�
O(t�)

d` exp(tA). exp(tB) = exp
{
t(A+B) +

t�

�
[A,B] +O(t�)

}
a` exp(tA). exp(tB). exp(−tA) = exp{tB + t�[A,B] +O(t�)}

q` exp(−tA). exp(−tB). exp(tA). exp(tB) = exp{t�[A,B] +O(t�)}

��( )
����� %��� $CP� &���I� e 
� f )
��: ()�*+�

[Anf ](e) =
{(

d

dt

)n
f(exp(tA))

}
t=�

�Y
��	��	

[AnBmf ](e) =
{(

d

dt

)n(
d

ds

)m
f(exp(tA). exp(sB)

}
t=�,s=�

�;� C*�
�B3 f(exp(tA). exp(sB)) 1��	 
���� 1�P ��4�E� 
�

f(exp(tA). exp(sB)) =
∑

n,m≥�

t�

n!
sm

m!
[AnBmf ](e)

�)

�� �t = s Ǳ�;�	 ��Z8 �

f(exp(tA). exp(sB)) =
∑
n,m≥

tn+m

n!m!
[AnBmf ](e) q�5$G r

�;� C*�
�B3 ��� t� w
�Q � [Af ](e) + [Bf ](e) ;� C*�
�B3 t w
�Q

�

�
[A�f ](e) + [ABf ](e) +

�

�
[Bαf ](e)

�)

�� Ao�( &+�( ��;�-��	 t Ǳ�;�	 �$�$G �� �6H �	 ��	 ���
� ��N ;�

exp(tA). exp(tB) = exp(tZ)

Z�, Z� ∈ TeG Ǳ�;�	 ��4�E� 
� $Z(�) = � � CP� &���I� O 
� Z �CP� O T!�D R ;� 1;�	 ��;�	 I �Z : I → TeG �(
�)

�� �&n�Wa	

Z(t) = tZ� + t�Z� +O(t�)

f �J
�n Y
� 
� � ��D&! ���� �
��� &U0 J
�n �	 e 
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= exp{t({}� −A) +
t�

�
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[A,B] +O(t�)�

}

= exp(t({· · ·}� + {· · ·}�) +
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[A,B] +O(t�)

})
. exp(t(A+B))

= exp
(
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{
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�L−� ���: �
; �( ��D ����

�	 A
 CD��� A
 � : H ↪→ G 1��EI! � CD��� �$�$7 �	 ��	 �J
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�� ���� 1����: �	 G′ � G 
� e′ � e ;� w���E	 N ′ � N ;�	 1�9��
�*�2 ()�*+�
�2 �-�E*2 )*�+
�!��2 ����: 1�98�>E�� %�o $CP� Ker(ρ) ;� �8��
� 1��U>� e � Ker(ρ) ∩N = {e} Y
��	��	 $CP�
� $-D�	&! �E**: Ker(ρ) �Z8 � CP� �8��
� Ker(ρ) ;� �U>�

 ������� exp : L(G) → G �3����!�	� �> �3� �
�� ��MN O��#�  9 ���� �� G ����� �)*+,( ��
��
�
�� L(G)  #	' �� ��33�

� $CP� &#Q�! )*�+
�!��
� exp : L(G) → G CD��� �$�$7 �� ! �	 ��	 ()�*+�

w��! �
 &2��E! -#	 �	 1
���	 1�6+−R A
 &#�� 1
���	 ���: �� E**: 1�92��:�
; �� �2 YE+�
 �� 8��*! Y
�
)�2�&! %��� ���y�H� %��	 �	 $p ≤ dimV %^ 
� �( �CP� �
�!��
� Zn ���: A
 �	 �&2��:�
; Y��o �2 $���:&!

��(

�
��  #	' ������ ���� �� ��33�  ���� ��� D � 
�� �1#� n ������ ��^�−R�� V ����� �� ��
��
v�, · · · , vp ∈ V  A% �8�3! ������ p .)��6 5�� �� �
�� V �� D T��� �1- 1�9�� ��^���� 1#� p ≤ n �����

�144� ! 1�9�� �� D �� 1��- ! 
���

CP
� k < p �� �2 1��	 )8 -��( `�+ $)��(&! C	�� Ǳ��>EP� �	 �
 )8 � CP� ���#! p = � C8�? -��( `�+ ()�*+�
�n��3 mP�� �( �
�� ���� U ;� A 1-#	−(p−�) &
�6+ �
; $-�(&! -�8�� �
 V ;� U 1-#	−p &
�6+ �
; D � CP�
%��(� $-��(&! -�8�� �
 D ∩A �( -�E*2 V 
� &U0 T>E*! &
�2
���	 v�, · · · , vp−� )
��: $���:&! -�8�� D 
�
���:&! �4�E� �EF� Y
� ;� �CP� A
i�8�L�� )*�+
�!�
� �
�(Z! 1�B� )*�+
�!��
� �F�
� $D +A/A ∼= D = D ∩A
bGc %�P���2 ;� .$. ��4�E� �	 %^ ;� &��B�� ��-2��! 1��	r �
�� �
��D 1��
�L D +A � -������+ �e#Q�! �92��: Y
� �(
1-#	 A
 1
���	 1�6+ ;� &2��: �
; %�o $CP� �E**: D +A/A �( )��(&! �h?K! Y
� A�F	 $q-��( ����
-�8�� �
 D � -��&U0 T>E*! v�, · · · , vp Y
��	��	 $���:&! -�8�� vp + A 1�W�3 mP�� D +A/A ���: �CP� U/A
� $-��(&!

$)��( �a�! �
 �
ZL ~
�#� -�B�2 &8 1�92��: 
�E0�P �� )

��H %��(�

��'� /�4= � ≤ p ≤ n �� p  h�h6 �1
 �
�� n 1#� �� ��MN O��#� 14*	� ���� �� G ����� �)+-. ��
��
�G ∼= Rn−p × Πp �� ����

L(G)/Ker exp ∼= G &�*�+
�!��
� �Y
��	��	 $CP� )*�+
�!��2 exp : L(G) → G CD��� 7$�$G ��
��: �	 ��	 ()�*+�
�Z? ���^ $C*�� 1
��D� 
�( �CP� &8 1�92��: )*�+
�!��
� )�2� %��� �e��>E*! �F�
� $�
�� ���� 1�B� ��B#� �	
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�1 � 6�
7
�1 �D ��� <<

Y
��	��	 $)

�� ,$.$7 )8 �	 ��	 �� ≤ p ≤ n �	 p A
 Ǳ�;�	 %��(� $)��(&! C	�� �
 ��&�( &�F? 7$7$7 
� � ���(
� $-�(&! C	�� �
 ��6H �
 J�B�� �( G ∼= R

n/Zp

� �G ∼= Πn ����F �
�� n 1#� �� � ���G� � 14*	�  9 ���� �� G ����� �)*+,( ��
��

�� �2 Y E +� 
 �& 8 1�92�� : 1- � 	 � > BN �� 8�� * ! ;� � �?� ! A
 �) 
�� ( � (s �$7 �a	 %� 
� L 
� � ( 
�N %��2
�)��(&! ���P ���#8� t�+ �
; )F? �	 �
 Y
� $CP� ���P -�B�2 &8 ���: A
 �� E**: ��!�� 1�92��:�
;

G ?��! �� H )��6 5�� �� �
�� G 14*	� �p�9�N�� ���� �� ��33� � 0�!�� ������� H ����� ������ ��
��
����� ���U

A� &E*
�	 �CP� -�B�2 %^ �
�W� %�o $CP� �EP��L g �→ ghg−� ��U	�Q �	 G→ H CD��� $h ∈ H )
��: ()�*+�
� $CP� �	��	 h �	 Y
��	��	 � -D�	 �U>�

��+4!� � (�/ 2��'��( #�B

� CP� G -�=��!�
; H Y
��	��	 $-D�	&! G ;� ;�	 1��3��4! �
; �( CP� %^ ;� &2��:�
; H � &8 ���: G )
��:
&�*�+
�!��
� %^ 1��E�! � CD��� �( ��o �CP� L(G) ��0 ;�	 ���: �
; �2 &8 �B� $-D�	&! G &8 ���: �
; �Z8
�4�E� L(H) = L(G) %�o � ��
�� �	 
� �
 G� �e!��8� G ;� H ;�	 ���: �
; �2 �Y
��	��	 $-D�	&! G �	 H ;� &#Q�!

$CP� �E*	 �e!��8� �;�	 ���: �
; �2 �( )
�D&! 
�^��
 $H� = G� )
��:&!

det : GL → R
∗ � CP� &>�>? ��-3� %�-�! � 	 &2�� E! -# 	 � 	 1
��� 	 1�6+ A
 V )
��: ��	 
� �����

1��	 � 
� L �� �2 ���
� 1�P ;� $C*�� -� B�2 )2 GL(V ) �C*�� -� B�2 R∗ %�o $CP� %�� �!� �� )*�+
�!��2
%���&! V 1�2)*�+
�!��� mP�� � �EP�� L TF�	 �
 qV 1��	 C9� A
 _�aE�� ;� XLr -�D�	 C9� )2 �( V
�( �CP� GL(V ) 
� &���2 �W�3 1-�B�2 �� = 8�� ! det−�(R+) C>�>? 
� �( -2�&! %��� Y
� $��( T
-B� )9	

$R+ := {x ∈ R∗∣∣
x
> �}

��� H 1�2�EP-�2 ���2 %�o $CP� G 
� H �� ����L �	 1�2�EP-�2 ��3��4! G/H � G ;� ;�	 &2��:�
; H )
��:
H �:� $C+�: �h� 
� %���&! 1-#	 v O 1-�=��! %���#	 �
 G/H � CP� �E**: &E�*H V
�0 1i�8�L�� �-�;�	

$���� ��-��H %���&! 1-#	 v O &8 ���: A
 J
�n �	 �
 G/H ����^ �-D�	 G ;� ��!�� &2��: �
; /�Wa	
v O &8 ���: γ = G/G� C�*H V
�0 �Z8� CP� zI	 T	�H ��� &���2 �W�3 1-�B�2 �� =8��! �
�! 
� ��Q�! Y
�

$CP� 1-#	

Y
� 
� $CP� V &2��E! -#	 �	 1
���	 1�6+ A
 1�2)*�+
�!��� ���: G = GL(V ) )
��: ��	
� �����
$γ = Z )

�� �$5$7 �� ! �	 ��	 �J
�n

)*�+
�!�R=
� ��2 �!� $-D�	&! �
�!�R=
� G� × γ �	 G -�=��! �CP� �
�!�R=
� G� � G 1-�B�2 �� =8��! �2 %�o
A
 �	 e → G� → G → γ → e y�H� 1�8�B�� 1��	 s : γ → G �-�+�FD �2 $�
�-� ���� �
�! Y
� 
� 1�&����(
��U	�Q �	 )*�+
�!��2 τ : γ → AutG� �( ����:&! w��! G� ×τ γ )�>E*! )�� _�6�n�? 1��	 G ;� )*�+
�!�
�

$�
�� ���� �
��! w�x� 
� 1��
�4� Y��o $-D�	&! �ε ∈ γ 1��	 τε = Js(ε)
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����2 �	 V Ǳ�-B! 
� ]�F#�� $CP� ��+ -#	 �	 1
���	 1�6+−R A
 V �( �G = GL(V ) )
��: ��	
� 
����
$-2�&! T�F�� �
 G 
� Z� = G/G� �
�!��
� �
�W� �V &���2 CD���

A
 e → G� → G → γ → e y � H� �� 8� B �� 1�� 	 s : γ → G �- � +� FD � 2 �G � 
Z L ~ 
� # � ��� : C 8� ? 
�
$���:&! w��! G� × γ 1��	 G ;� )*�+
�!��
�

a ∈ V 1
���	 � V ;� U 1
���	 1�6+ �
; $CP� &2��E! -#	 �	 1
���	 1�6+−R A
 V )
��: ��	
� �����
1i�8�L�� ����9	 �a |�In _��6! �;�-��	 %^ 1�98�>E�� � U ���E�� �J
�n Y
� 
� $a /∈ U �( -
���	 �h� 
� �

Z �	 %^ 1-�B�2 1�2�=8�� ! ���: � CP� G &���2 �W�3 1-�B�2 �� =8�� ! U $-2�&! &8 ���: T�F�� �V ;� &B*�
�Z8 � CP� s : Z → G &WaD ��-�+�FD )*�+
�!��2 1�
�� �→ U → G→ Z → � y�H� �� 8�B�� $-D�	&! �
�!��
�

$G ∼= U × Z

�;�/ ��&���'��( =�B

��92��:�
; ;� ���: Y
� 1�� �2 $-�E*2 &8 ���:�
; �&8 ���: �2 �� E**: 1�92��:�
; ��� � ;�	 1�92��:�
; �( )
-
�
�T( 
� �( )

��&! %�3s� %��(� $-�E*2 �E*	

�1-�� ! G �� ��3� ���
�	D!��� H 1�4�;�� �
�� G ��  ���� ��� H �  9 ���� G ����� �)+-. �����
/�	� .H � � /F  ��8 9� �p� 9� N� � �� ��� ��� � � ���� ��'� H � � ���W � �Eh4!  9 ���� �� �%�� .)��6 5����

�1-�� ! G  9 ���� ��� h .��i#� � 
�� H �� G ��  ��89� �p�9�N��

�
; J
�n �	 L )
��: $CP� G ;� �E*	 &2��: �
; H )��( `�+ ��? $���:&! �4�E� <$�$7 ;� &
�EF
 ()�*+�
����: "
�#�

L :=
{
A ∈ L(G)

∣∣ exp(tA) ∈ H 1� t ∈ R �2 Ǳ�;�	 } qG$7 r

$tA ∈ L 1� t ∈ R �2 Ǳ�;�	 �( -�(&! _�4
� L "
�#� �	 ��	 A ∈ L $CP� L(G) ;� 1�B��
; L �( )��(&! C	�� �-E	�
�( ��o �exp(t(A+B)) ∈ H 1� t ∈ R �2 Ǳ�;�	 �(i) C�*H �G$,$G �	 ��	 �J
�n Y
� 
� $A,B ∈ L )��( `�+ ��?
� exp t�[A,B] ∈ H 1� t ∈ R �2 Ǳ�;�	 �( )

�� G$,$G ;� (ii) C�*H �	 ��	 � A + B ∈ L Y
��	��	 $CP� �E*	 H

$CP� L(G) �B��
; L �Y
��	��	 $[A,B] ∈ L Y
��	��	
� exp(L) ⊂ H )

�� �L C0�P k�
 T�8� �	 $-
���	 �h� 
� �
 L(H)∗ = L �	 G ;� H∗ -�B�2 &8 ���: �
; ��?

$���:&! -�8�� exp(L) mP�� H∗ �( ��o �H∗ ⊂ H Y
��	��	
Ke �3 �H∗ 
� e ;� V &� 
�*�2 �2 � ( ) � � ( C 	� � ) � 2��0&! $CP� ��� � 2 G &B* � 1i� 8� L� � � 	 H ) 
� � :
&�EP�� L ;� ���=EP� � 	 �EB 8�r CP� H 1i�8�L� � ���: �
; H∗ �( -�(&! C	�� Y
� $CP� H 
� e ;� 1�&�
�*�2
�%��(� $CP� G &8 ���:�
; H� ��4�E� 
� $H∗ = H� 1i�8�L�� ���: %���#	 �)
���	 H∗ �
 V �{���o � qH∗ ↪→ H

_�Q g�Q� �	 �J
�n Y
� 
� $)�2�&! H �	 G ;� 1-�=��!�
; 
�E0�P �jo ;� 1�98�>E �� � 
 JK
-B� A�( �	
$CP� &+�( �CP� G &8 ���:�
; h �F�
� %��� %��� 1��	 Ke �3 Y
� $CP� �
Z[��*���=
� H ×H → H


� e &�
�*�2 V )��( `�+ $CP� H 
� e ;� &�
�*�2 A
 H∗ 
� e ;� V &�
�*�2 �2 �( )�2� %��� �-��! �9��
limk→∞ ck = e �	 H − V 
� c�, · · · , ck, · · · 1��8�B�� $-!�4��&! ~H��� �	 `�+ Y
� �( )�2�&! %��� � -D�B� H
;� U� � U� 
�-���( � ;�	 �-�B�2 1�9��
�*�2 ��$.$G �	 ��	 $CP� L(G) 
� L )�E! 1�6+ �
; M )
��: $�
�� ����

�CD��� �( -�
�� ���� 1����: �	 w���E	 L � M 
� �

ϕ : (A,B) �→ exp(A). exp(B) A ∈M,B ∈ L q7$7 r
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�1 � 6�
7
�1 �D ��� �O

� ( ) � � ( `� + ) � ��� �& ! �Y 
�� 	� � 	 $�
�� �� �� G 
� e ;� 1;� 	 & � 
� *� 2 1� E 	 U� × U� ;� & �* � +
� !� R = 
�
$limk→∞ Ak = � � Ak 	= � J
�n Y
� 
� $exp(Bk) ∈ V � Bk ∈ U� � Ak ∈ U� �	 ck = exp(Ak) exp(Bk)


�-���( U� %��(� $(rk + �)Ak /∈ U� � rkAk ∈ U� �( �
�� ���� 1����: �	 � < rk |�In �-3 �Ak 	= � %�o
�Ak → � � (rk + �)Ak /∈ U� %�o $CP� A ∈ U� A
 �	 ����2 (rkAk) 1�8�B�� ��2�8�B�� �
; �	 YE+
 �	 �Z8 � CP�

$A 	= � �eE4�E� ��
�-� 
��H U� ;�! �	 A XL
-�E*2 |�In ��-3� tk � sk �( �prk = qsk + tk )�*
��	 )�����&! $-�E*2 � < q �	 |�In �-3 �� q � p )
��:

�Y
��	��	 � CP� �=n lim tk
q Ak J
�n Y
� 
� $� ≤ tk < q �

exp
(p
q
A
)

= lim
k→∞

exp
(prk
q
Ak

)
= lim

k→∞
(
exp(Ak)

)sk q<$7 r

`�+ � 	 �( A ∈ L J
�n Y
� 
� �!� $exp(tA) ∈ H 1� r ∈ R �2 Ǳ�;� 	 �&�EP�� L � 	 � � 	 $CP� y�#E! H �	 �(
$CP� ��6� 
� A 	= � � A ∈ U� ⊂M

�CP� G ;� ;�	 &2��:�
; �
 CP� �E**: H �( CP� 1����: �	 �CP� �-D zI	 Ke BH �( �$,$7 /�0 1�9���?
$CP� �p��E! L = L(G) �
 L = � C8�? �	 �(

���	� �� H  9 �*' L(H) ����� �1-�� ! /F �� ��3�  ������� H � 
��  9 ���� G ����� �)*+,( �����
�J
�n Y
� 
� $CP� �$,$7 �� �1- "��#� ��W� �Eh4!  9 ���� ���%��

L(H) =
{
A ∈ L(G)

∣∣ exp(tA) ∈ H 1� t ∈ R �2 Ǳ�;�	 } q�$7 r

� $-D "
�#� C�n�0 Y
� �	 �$,$7 J�B�� 
� H &8 �B� ()�*+�

CP
� ��
�� ��� �=8�� ! �
��D ��-#� �	 �( G ;� H &2��a8� &8 ���: �
; 1��	 �$,$7 �� 4�E� ������	� 
����
$-��( ���� bGc %�P�:-2 ;� �O< ��I=n �	 $-D�	&!

$-�2�&! T�F�� �
 G &8 ���: �2 �� E*	 1�92��:�
; ;� &�9! �� EP� ���
� 1�92��: �	 G ;� 1�9�*�+
�!��2 �� E*2

G  9 ������� Ker(ρ) )��6 5�� �� �
��  9 ��H���� 5�� �3����!�	� ρ : G → G′ ����� ������ �����
�
��  9 ����*' 5�� ρ T���  ��89� �3����!�	� L(ρ) : L(G) → L(G)′ �� .L(Ker(ρ)) = Ker(L(ρ)) � 
��

��$,$7 �	��	 $-D�	&! G &8 ���:�
; �$,$7 �	 ��	 �Z8 � CP� G �� E*	 ���:�
; Ker(ρ) ()�*+�

L(Ker(ρ)) =
{
A ∈ L(G)

∣∣
ρ
(exp tA) = e′1�t ∈ R�2 Ǳ�;�	

}
q�O$7 r

���#! ρ(exp(tA)) = e′ 1� t ∈ R �2 Ǳ�;�	 �F�
� �exp CD��� G$�$G %��	 &#�BN �	 ��	 $CP� G′ &���2 �W�3 e′ �(
�( �
�� ���� %��o 1� ε > � �F�
� �	 CP� ���#! ��0 Y
� $exp(L(ρ)(tA)) = e′ 1� t ∈ R �2 Ǳ�;�	 �F�
� �	 CP�
� $L(Ker(ρ)) = Ker(L(ρ)) Y
��	��	 $L(ρ)(A) = � &�#
 Y
� $L(ρ)(tA) = � 1� |t|<ε �2 Ǳ�;�	

w�U! Y
� ��EB8� $CP� &8 �B� A
 L(ρ) : L(G) → L(G)′ )*�+
�!��2 1�E*2 �( -2�&! %��� /�Wa	 Y
�
$CP� CP
� ��� &8 1�2�B� Y�	 )*�+
�!��2 �2 �� E*2 1��	

�)

�� �C>�>? 
� $)��( T>E�! &8 1�92��: �
�W� �	 �
 J�3KN� )����E	 �� )��
�! �Y��{�2

5�� �� �
�� 14*	�G 1�4�;�� �
��  9 ��H���� 5��  	3����!�	� ρ : G → G′ ����� ������ �����
ρ T���  ��89� �3����!�	� L(ρ) : L(G) → L(G)′ �� �L(Imρ) = Im(L(ρ)) � 
�� G′  9 ������� Im(ρ) )��6

�
��  9 ����*' 5��
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$A ∈ L(G) �( ���:&! -�8�� 1�n��3 mP�� H $CP� L(H) = Im(L(ρ)) �	 G′ -�B�2 &8 ���: �
; H )
��: ()�*+�
� $ρ(G) = H )

�� �-�E*2 -�B�2 ρ(G) � H %�o �Y
��	��	 $ρ(exp(A)) = exp(L(ρ)(A)) )

�� G$�$G �	 ��	 �!�

�	 �CP� )*�+
�!��2 ρ̂ : G → ρ(G) &
�>8� CD��� �
^ $CP� g�U! �4�
� 
� 1��8�*! ������	� �����
$q7$7$7r CP� CP
� Y
� �CP� &���I� ��
� J
�B3

�&8 1�92��: Y�	 1�2)*�+
�!��2 ;� 1��8�B�� ��?

G′ G G′′�
ρ′

�
ρ′′ q��$7 r

����:&! Ǳ�>8� T
s g�D �	 &8 1�2�B� Y�	 1�2)*�+
�!��2 ;� 1��8�B�� $-
���	 �h� 
� �


L(G′) L(G) L(G′′)�
L(ρ′)

�
L(ρ′′) q��$7 r

_�4
� �
 q��$7 r %��	 y�H� �q��$7 ` /��� m�U� .)��6 5�� �� �
�� 14*	� G′ 1�4�;�� ������ �����
$-�(&!

�)

�� ,$,$7 � 5$,$7 �	 ��	 ����^ �Im(ρ′) = Ker(ρ)” �:� ()�*+�

Im(L(ρ′)) = L(Im(ρ′)) = L(Ker(ρ)”) = Ker(L(ρ”)) q�.$7 r

� $CP� ���� %�2�	 �

�y�H� �� 8�B�� $CP� -�B�2 ���: A
 G )
��: ��	
� �����

{�} TeG TG G {e}� � � � q�5$7 r

�y�H� 1��8�B�� �&8 1�92��: ;�

{�} TeG L(TG) (G) {�}� � � � q�,$7 r

L(G) → L(TG) 1��-�+�FD ���� �� 8�B�� G ↪→ TG &#�BN ��-�+�FD �( -��( ���� $-�(&! Ǳ�>8� �
 &8 1�2�B� ;�
$-�(&! "
�#� ��� �� 8�B�� 1��	

$-�D�	 -�B�2 �92��: ���2 �:� &E? �C*�� CP
� 7$,$7 ��
��: XF3 �( -��( ����

$C*2 ��� &#Q�! )*�+
�!�
� %�!��2 �( CP� &8 1�92��: Y�	 )*�+
�!��2 ρ : G→ G′ )
��: ��	
� �����
�J
�n Y
� 
�

{�} L(G) L(G′) {�}� �
L(ρ)

� q�G$7 r

��( �
�-� &!��8 �!� $CP� y�H� 1��8�B��

{�} eG G′ {e′}� � � q�7$7 r

$-�D�	 �
�!��
� G′ � G �( �
�-� &!��8 ���
� J
�B#	 $-D�	 y�H�
$CP� 
��H�	 J�H�� &2�: ��
; /�0 C8�?




9�
�1 � 6�
7
�1 �D ��� ��

�� �14�3� 14*	� G′ � G 1�4�;�� �
��  9 ��H���� 5�� �3����!�	� ρ : G → G′ ����� ������ ������
�1-�� �-�N L(ρ) : L(G) → L(G)′ �� 
�� �-�N  �U� �H4� �  �U� ρ )��6 5��

%��� �( �-D�	 yBU�! G′ ���: L(G)′ &8 �B� �	 &E*
�	 ρ(G) &8 ���: L(ρ)(L(G)) &8 �B� �-D�	 �D�L ρ �:� ()�*+�
$CP� �D�L L(ρ) -2�&!

$g ∈ G �CP� �D�L G$�$G �	 ��	 ρg∗ : TgG → Tρ(g)G
′ J
�n Y
� 
� $CP� �D�L L(ρ) -��( `�+ �XF#8�	

� $ρ(G) = G′ �4�E� 
� $CP� G′ ;� q�E*	 �Z8 �r ;�	 &2��:�
; ρ(G) Y
��	��	

&8 ���: A
 �	 &���2 �W�3 1-�B�2 �� =8�� ! 1�E?� CD��� �( ��o $��( �Z? ��D&�� �
 G′ %��	 -�B�2 S�D
$C*�� �D�L CD��� ��0 &8� CP� �D�L � -�(&! Ǳ�>8� &8 1�2�B� Y�	 &�*�+
�!��
� �-�B�2 ��x

CD��� �ρ : G→ G′ A
 �	 A
 CD��� �( )
-
� �$�$7 
� $C*�� CP
� �%��	 A
 �	 A
 1��	 �	��! 1�3��
u-�(&�� _�4
� �
 ρ %��	 A
 �	 A
 �L(ρ) %��	 A
 �	 A
 &8� $-�(&! Ǳ�>8� �
 L(ρ) : L(G) → L(G)′ A
 �	 A


$CP� R → S� &����( )*�+
�!��2 ��3�� Y
� ;� &8� !

L� �M� 2��' �: ;�/ ��&���'��( >�B

&0� 	 $CP� %^ &U 0 1�9 �* � +
� !� �� ��� : GL(V ) � C P� &2� � E ! - # 	 � 	 1
��� 	 1�6 +−R A
 V ) 
� � :
$)
��:&! �h� 
� �
 GL(V ) �� E*	 1�92��:�
;

ϕ �( CP� GL(V ) ;� &2��:�
; H )
��: $-D�	&! V �	 �-�	���� ��+ A
 � CP� &U0 �� ϕ : V × V → R )
��:
��
�Z:&! ��
��� �


H =
{
g ∈ GL(V )

∣∣ϕ(gv, g) = ϕ(v, w) 1� v, w ∈ V �2 Ǳ�;�	 } q�<$7 r

CD��� �C	�� v,∈ V �2 Ǳ�;�	
GL(V ) −→ GL(V ) × GL(V ) −→ V × V −→ R

g �−→ (g, g) �−→ (gv, gw) �−→ ϕ(gv, gw)

���3��4! �Y
��	��	 $CP� �EP��L )2 CD��� Y
� �CP� �EP��L ϕ %�o $-
���	 �h� 
� �


S(v, w) =
{
g ∈ GL(V )

∣∣ϕ(gv, gw) = ϕ(v, w)
} q��$7 r

$-D�	&! GL(V ) ;� 1��E*	 ���:�
; H �( -2�&! %��� Y
� $H =
⋂
v,∈V S(v, w) %��(� $CP� �E*	 GL(V ) 
�

/�W0 
� T
s )F? �w���� Y
� �	 $q��D �*
�>! <$. ��
��: �	r )
��:&! &F
 L(V ) �	 �
 GL(V ) &8 �B� ��?
$)

�� �
 L(H)

L(H) =
{
A ∈ L(V )

∣∣ϕ(Av,w) + ϕ(v,Aw) = � 1� v, w ∈ V �2 Ǳ�;�	 } ������ �����
1� v, w ∈ V � 2 Ǳ�;� 	 � exp tA ∈ H 1� t ∈ R � 2 Ǳ�;� 	 J
� n Y 
� 
� $A ∈ L(H) ) 
� � : ()� * +�
) 

�� �t = � %��� 
�� H X [ P � t � 	 C B * � 1� � : y E � ! � 	 $(exp(tA)v, exp(tA)w) = ϕ(v, w)

$ϕ(Av,w) + ϕ(v,Aw) = �

�
��� A∗ ���� �	 �
 ϕ �	 CB*� A &H�I8� &U0 CD��� $-�( t-n S�D Y
�
� A ∈ L(V ) )��( `�+ �XF#8�	
|
��� %���&! A∗ = −A J
�n �	 �
 A �	 J�Q��=! �Y
��	��	 $ϕ(Av,w) = ϕ(v,A∗w) "
�#� �	 ��	 �( u)�2�&!
1� t ∈ R �2 Ǳ�;� 	 &�# 
 Y
� �( �(exp(tA))∗ = (exp(tX))−� 1� t ∈ R �2 Ǳ�;� 	 �( )�2� %��� )�2��0&! $��(

$A ∈ L(H) �( -�(&! _�4
� Y
� $exp tA ∈ H
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J
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� �!� $(exp tA)∗ = (exp tA)−� -�(&! _�4
� A∗ = −A �( )�2� %��� CP� �-��! �9� �
� $���:&! �4�E� ,$�$G 
� g���! exp(tA) =

∑∞
n=�(tA)n/n!

$-
���	 �4�E� ��� ,$5$G ;� �
 �$G$7 ��
��: ������ �����
�	 ���^ � CP� ϕ �	 CB*� V -!�#E! ���: ;� J
�B3 H ���: J
�n Y
� 
� �-D�	 ��� %
�>E! �Y
� �	 ��K3 ϕ �:�
&�#
 �-��&H�I8� ��0��L ϕ �	 CB*� �( ���:&! T�F�� V �	 &
�2����3 ;� %^ &8 �B� $)�2�&! %��� O(V, ϕ)

$A∗ = −A

��( A
 e�, e�, e� )
��: $-
���	 �h� 
� �
 ϕ &P-��H� �E! �	 V 1-#	 v . 1
���	 1�6+−R ��	
� 
����
�"
�#� �	 J
�n Y
� 
� $��D �E+�: CB ! {e�, e�, e�} C9� � CP� V 1��	 �F
 -!�#E!

[e�, e�] = e�, [e�, e�] = −e�, [e�, e�] = e� q�O$7 r

$q��D ���� <$.$5 �	r )
��:&! &F
 GL(V ) &8 �B� �	 �
 L(V ) $���� "
�#� %���&! V �	 &8�B� 
�E0�P A

�J
�n Y
� 
� $-
���	 �h� 
� �
 v ∈ V 1��	 Av = [a, v] ��U	�Q �	 A ∈ L(V ) � a ∈ V )
��:

ϕ(Av,w) + ϕ(v,Aw) = ϕ([a, v], ) + ϕ(v, [a, ]) = � q��$7 r


� A Y
��	��	 $CP� ��9�! , v, a mP�� �-D "
�#� g�U*8� 1;��E! 
�-E9� )4? J
�n �	 ϕ([a, v], w) )*4� �	 �(
a �→ A �� U	�Q �	 I : V → L(O(V, ϕ)) CD��� $�
�� 
��H ϕ �	 CB*� O(V, ϕ) -!�#E! ���: L(O(V, ϕ)) &8 �B�
�	 � C*�� CP
� &�( C8�? 
� Y
� �EB8�r a = � �( -�(&! _�4
� [a, v] = � 1� v ∈ V �2 Ǳ�;�	 �F�
� �!�$CP� &U0

$q�
�� &�E*	 &8 �B� 
�E0�P
&U0 )*�+
�!��
� A
 I �Z8 � �-�E*2 1-#	 �P L(O(V, ϕ)) ��� � V �!� $CP� I %��	 A
 �	 A
 &�#! �	 Y
�
� i = �,� Ǳ�;�	 )
��: $CP� &8 1�2�B� Y�	 )*�+
�!��
� I : V → L(O(V, β)) �( )��(&! y�>I� ��4���P $CP�

�J
�n Y
� 
� $Aiv = [a− I, v] 1� v ∈ V �2

[A�, A�]v = A�A�v −A�A�v

= [a�, [a�, v]] − [a�, [a�, v]]

= [[a�, a�], v] q&	�(�i ��I�� �	 ��	r

a �→ A �� U 	�Q � 	 I : V → L(O(V, ϕ)) CD��� mP� � O(V, ϕ) ���: &8 � B� � 	 V �( ) 
��( �h?K! �Y
�� 	� � 	
$Av = [a, v] 1� v ∈ V �2 Ǳ�;�	 �( �CP� �
�!��
�

�)
��:&! �h� 
� �
 A mP�� �-D "
�#� O(V, ϕ) ;� 1�E!�
�L−� ���: �a �→ A �p��� &P-�2 C��2� ��h?K! 1��	
�( .
vt=

.
αt v = Aαtv = Avt J
�n Y
� 
� $vt = αtv � v ∈ V )
��: $-�(&! t-n .

αt= Aαt 
� G$5$, �	 ��	 �(
mP�� �-D "
�#� O(V, ϕ) ;� αt 1�E!�
�L−� ���: �
; �( -2-! %��� Y
� $CD�� %���&! .

vt= [a, vt] J
�n �	 ���^
$a %�
�� 
�I! �	 V 
� 1�9��
�� 1�E!�
�L−� ���: ;� C*�
�B3 A

�Y 
�� 	� � 	 $- � (& ! T � 3 V � 	 �V 
� �- D " 
� # � & 8 � B � 
� E 0� P 1� 2) * � +
� !� �� m P� � O(V, ϕ)

� :� $- �;� P& ! ) 2�� + L(O(V, ϕ)) 
� O(V, ϕ) 1�� 	 � 
� � � A 
 I : V → L(O(V, ϕ)) 1� 9 � * � +
� !�� 
�
v ∈ V � A = I(a) �a ∈ V �g ∈ O(V, ϕ) Ǳ�;�	 σ ����^ �-D�	 �
��� Y
� ���
��� σ : O(V, ϕ) → Aut(L(O(V, ϕ)))

�2 Ǳ�;�	 ��
; �CP� O(V, ϕ) &H�I8� �
��� %��2 CP
� ��
��� Y
� $���:&! "
�#� (σgA)(v) = [ga, v] J
�n �	
�1� v ∈ V

(σgA)(v) = [ga, v] = g[a, g−�v] = [g(A(g−�v)) = (gAg−�)(v) q��$7 r
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$σgA = gAg−� Y
��	��	 �

CB ! ϕ )��( `�+ $CP� V �	 Y�F��� %
�>E! &U0 �� ��+ A
 ϕ � CP� ���a8� &2��E! -#	 �	 V )��( `�+ ;�	
�W�3 1-�B�2 �� =8�� ! �( ��� %��� ��D&! q��D ���� �$5$7 �� ! �	r GL(V ) �
�! 
� ��-EP� Y��2 �	 $CP� Y�#!

$)�2�&! %��� S(O(V, ϕ)) ���� �	 �
 ���: Y
� $-D�	&! det : O(V, ϕ) → R∗ )*�+
�!��2 �� E*2 �	��	 �%^ &���2

O(V, ϕ) 5�#! 
*t! � /��8�!  A% �� P�� �� ϕ . ��4�! 1#� �� ������ ��^�−R�� V ����� ������ �����
?�� � O(V, ϕ) )��6 5�� �� �
�� �� /�4�!��� �� 1!�#�! �����S	
 ���� S(O(V, ϕ)) � ϕ �� 
*3� V 1!�#�! ����

�1�����G� S(O(V, ϕ))

����+ O(V, ϕ) �( )��( C	�� CP� &+�( XL $CP� �E*	 �Z8 � CP� O(V, ϕ) ;� 1;�	 ���: �
; S(O(V, ϕ)) ()�*+�

� O(V, ϕ) XL �CP� L(V ) ;� ;�	 1��3��4!�
; GL(V ) %�o $CP� GL(V ) ;� �E*	 &2��:�
; O(V, ϕ) ��? $CP�

$CP� 
�-���( L(V ) 
� O(V, ϕ) )�2� %��� �( CP� &+�( �Y
��	��	 $CP� �E*	 ��� L(V )

���U	�Q �	 ��+v� |.| : L(V ) → R �:� ��?

|A| := sup
v �=�, v∈V

ϕ(Av,Av)�/�

ϕ(v, v)�/�
q�.$7 r
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�n Y
� 
� �-D�	 ϕ �	 CB*� L(V ) �	
$CP�
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%�o $)�2�&! %��� Sp(V, ϕ) �	 ���^ �( CP� ϕ �	 CB*� V A�E(�[��P ���: �-2�&! 
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 ϕ �( GL(V ) 
�
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� �
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U

: U → exp(U) �� ���� ��'� ������ �� M �� � �� U �� ���3	� �� �����
� �
�� G/H �� p(e) ��  ���3	� �� ����  	3����!�	� p
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exp(U)

: exp(U) → p(exp(U))
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� ���
��� N� �:� �)
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∣∣
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 �	r CP� )*�+
�!��2 ϕ )��( `�+ ��?
CP� &+�( �q-��( ���� �O$5$� �	r CP� %�

�� &
�(� ϕ %�o $-D�	 )*�+
�!��
� S�>� �� ��( 
� ϕ yE�! &U0
)� �( C	� � CP� &+�( �( -2�&! %��� ϕ

∣∣
N�

◦ Ψ ◦ (p
∣∣
B

)−� �� 
�4� %� �(� $) � � ( y�>I� x� �� U> � 1�� 	 �
 Y
�
�J
�n Y
� 
� $Ker(Ψ∗e) = TeH )��(&! C	�� $CP� �D�L Ψ∗e : TeG→ Tx�(X)

rank(Ψ∗e) = dim(Ker(Ψ∗e)) = dim(G) − dim(H) = dim(G/H) = dim(X) q�5$7 r

$��	&! %�
�L �	 �
 J�B�� Y
� � qCP� α %��	 )*�+
�!��2 ��0^ 1��*� T�8�r
$TeH ⊂ Ker(Ψ∗e) g�Q�	 �CP� x� 1-���F
 ���: H %�o $Ker(Ψ∗e) = TeH �( )�2� %��� CP� �-��! �9��
A ∈ R(G) �	 ��h� w���E	 � �Ae mP�� �-D "
�#� X �	 A∗ M����( 1
���	 %�-�! $Ae ∈ Ker(Ψ∗e) )
��: �XF#8�	

$Ψ∗e(Ae) = A∗
x�

= � -2�&! %��� Y
� � q-��( ���� �$G$, J�B�� �	r -�UB��!−Ψ u-
���	 �h� 
� �

$Ae ∈ TeH )

�� 5$,$7 �	 ���� �	 ��4�E� 
� $exp(tAe) ∈ H 1� t ∈ R �2 Ǳ�;�	 �$.$G �	 ��	 �J
�n Y
� 
�

�

G �( CP� )*�+
�!��2 &�
�n 
� Ke �3 .$7$7 
� �-D "
�#� ϕ : G/H → X CD��� ������	� �����
�e!��8 �� �r X ���a8� -�=��! �2 Ǳ�;�	 �( -2�&! %��� ��	 ��-EP� �+�Q� `�+ Y
� �	 $-D�	 �ED�� �=8��! �
��D 1��-#�

$CP� x� 
� 
�-! 1��	 &�*�+
�!�R=
� ϕ : G/H → X CD��� �x� ∈ X � q%^ �	 1-#E! &��3 �	

$)

�^&! �
 T
s "
�#� �CP� G 
� ��!�� H ���: �
; �( &E8�? �	 C�:�	 ;� ��L

1
���	 1�6+�
; A
 ;� CP� J
�B3 L ;� I �^ �-
� $CP� A �� >�? 1�
 &8 �B� A
 L )
��: ������ �����
$[A,B] ∈ I 1� B ∈ L � A ∈ I �2 Ǳ�;�	 �S�D 
� t��n L ;�
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7
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�E0�P A
 �	 &����( J
�n �	 L/I C�*H V
�0 1
���	 C�*H V
�0 1
���	 1�6+ �-D�	 L ;� &8^ �-
� I �:�
1�2�B� Y�	 )*�+
�!��2 �2 I �� E*2 �XF#8�	 $CP� L → L/I &����( )*�+
�!��2 �� E*2 I � ����:&! ����2 &8 �B�
1�2�B� )*�+
�!��
� A
 ��
�W� 1��	 L/I ;� 1
���	 1�2�6+ )*�+
�!��
� � CP� L ;� I &8^�-
� �L �� �!�� �	 �&8

$CP� &8

��( )��(&! C	�� ��?

�1SW�4! ���%�� �� G/H  �	3U u��% ���� �
�� G  9 ���� �� ����3� 0�!�� ���� ��� H ����� ������ �����
L(p) : L(G) → L(G/H) Ǳ�>8� w��! p : G → G/H &����( )*�+
�!��2 $CP� &8 ���: ��$7$7 �� �1- "��#�

��( 1����: �	 ����:&!

L(G)/L(H) ∼= L(G/H) q�,$7 r

��=	 �WI�! 1-�=��! 
�E0�P $CP� 1i�8�L�� ���: &
�>8� 1i�8�L�� �	 CB*� G/H &E�*H V
�0 ���: ()�*+�

&���I� (g, xH) �→ gxH �� U	�Q �	 G×G/H → G/H CD��� �( 1����: �	 �-
���	 �h� 
� �
 G/H 1��	 �$7$7
C0�P &����o �	 ��	 $CP� &9
-	 �( CP� &���I� G/H 
� 1�2����3 ���: �( )�2� %��� CP� �-��! $CP�

$-D�	&! &8 1�92��: Y�	 )*�+
�!��2 Y
��	��	 � CP� &���I� p : G→ G/H CD��� G/H �	 1-�=��! 
�E0�P
��4�E� 
� $Ker(L(p)) = L(Ker(p)) = L(H) )

�� �5$,$7 �	 ��	 $-
���	 �h� 
� �
 L(p) : L(G) → L(G/H)

� $-�(&! Ǳ�>8� L(G)/L(H) ∼= L(G/H) )*�+
�!��
� A
 L(p)

�
�-P��2 &E�*H V
�0 ���: CP� YF�! ����^ �-D�	 G �� E*	 ��x &8 � ��!�� ���: �
; H �:� �( -��( ����
$-D�B�

�)

�� %^ ;� 1��4�E� %���3 �	


-��� �
�� 14*	� G ��4� ;�� �
��  9 ��H���� 5�� �3����!�	� ρ : G → G′ ����� ������ �����
 9 ��H���� 5�� �3����!�?�� ρ̃ )��6 5�� �� �1����� �7� �� �� ρ T���  ��89� ρ̃ : G/Ker(ρ) → ρ(G)  �����
/�Wa	 Y
� $,$,$7 
� g���! 
�E0�P �	 ρ(G) � CP� G$7$7 �� @��G!  9 ���� ���%�� �� G/Ker(ρ) �� .
��

$CP� &���I� ρ mP�� &
�>8� ρ̂ : G→ ρ(G) CD��� �( -2�&! %���

��
ZL ~
�#� ���:�
� ()�*+�

L(G)/Ker(ρ) L(ρ)(L(G))

L(G) L(G/Ker(ρ)) L(ρ(G)) L(G′)

G G/Ker(ρ) ρ(G) G′

G G′

�
∼=

�
∼=

��
�
�
���

�
L(ρ)

�
exp

�
�
�
�
��

�
exp

� �

�
exp

�p

��
��
��

��
��
�	

L(ρ)

�
ρ̃

� �

�
ρ

C D� � � A 
 �  (�- ? C P� A 
 � 	 A 
 L(ρ(G)) → L(G)′ � � D� L L(p) %� o $- 
� � � 	 � h � 
� �

&����( )*�+
�!��
� $���:&! 
��H ��	 TFD 
� Y�o �U>� %�F! 
� �( �
�� ���� γ : L(G/Ker(ρ)) → L(ρ(G))
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~
�#� � 
 ���:�
� γ $-
���	 �h� 
� �
 L(ρ) : L(G) → L(G)′ mP�� &
�>8� γ : L(G)/L(Ker(ρ)) → L(ρ)(L(G))

��2 
� ρ̃ Y
��	��	 $�
�� 
��H &����( 1�9�
�o 
� γ �( ��o �CP� &���I� e 
� ρ̃ �( -�(&! C	�� Y
� $-�(&! �
ZL
CD��� $CP� &8 1�92��: Y�	 )*�+
�!��
� �� � ρ̃ �Z8 � CP� )*�+
�!��
� L(ρ̃) = γ ��K#	 $CP� &���I� ��
� $CP� &���I� )2 k��0 �Z8 � CP� &���I� 1�9�*�+
�!��2 ρ̃ ◦ ρ w�(�� �	��	 ρ̂ : G→ ρ(G)
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� ���
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$

�45 3� ��&!�������
� 2��' ��P

&U0 �� CD�� � A
 ����2 � 	 1
��� 	 1�6+ A
 �� 
� J
� B3 � 	 �CP� &2� � E ! -# 	 � 	 � B�−R A
 A )
� � :
1�9�*�+
�!��� ���: Aut(A) $CP� A 1����!; 1
���	 1�6+−R 1�9�*�+
�!��� ���: GL(A) )
��: $A×A → A

$Aut(A) ⊆ GL(A) J
�n Y
� 
� $CP� A �B�

$CP� &8 �B�−R A
 A ��	
� �����
�
�� GL(A) �� ��3�  ������� Aut(A) �� �����

CD��� � A,B ∈ A )
��: ()�*+�

GL(A) −→ GL(A) × GL(A) −→ A×A −→ A
ϕ �−→ (ϕ,ϕ) �−→ (ϕA,ϕB) �−→ ϕ(A).ϕ(B)

$CP� �EP��L ��� CD��� Y
� �qCP� &2��E! -#	 �	 Ar CP� �EP��L A ×A → A _�Q %�o $)��(&! "
�#� �


� �Z8 � CP� CD��� Y
� CI� ϕ(A,B) ]�F#! �
�W� S(A,B) = {= ϕ ∈ GL(A)|ϕA.ϕB = ϕ(A.B)} �� 3��4!
� $CP� �E*	 GL(A) 
� Aut(A) �Z8 � Aut(A) =

⋂
A,B∈A S(A,B) %��(� $CP� �E*	 GL(A)

�)

�� �$,$7 �	 ��	 �Y
��	��	

GL(A) �> �3�  9 ������� Aut(A) )��6 5�� �� �
��  ��4�! 1#� �� �*'−R �� A ����� ������ 
����
(���� ! vIG! ��� )��6 �� L(Aut(A))  9 �*' �
��

L(Aut(A)) := {D ∈ L(A)| exp(tD) ∈ Aut(A), ∀t ∈ R} q�$< r

� �
�� A ���4�!� ������ ��^� ��H	3����!�1��  9 �*' L(A) �D4�� �� ��

�CP� T
s S�D 
� t��n D ∈ L(A) 1�W�3 �A 1��	 D yE�! A
 ;� 
�h�! ������ �����

D(A.B) = D(A).B +A.D(B) ∀A,B ∈ A q�$< r

��
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7 �P ��� �OO

�
�� A )�8�G! �>
�	D! �� )��*
 Aut(L(A))  9 �*' ������ �����
�1� t ∈ R � A,B ∈ A �2 Ǳ�;�	 �.$�$< �	��	 $D ∈ Aut(L(A)) )
��: ()�*+�

exp(tD(A.B)) = (exp(tD.A)).(exp(tD.B)) q.$< r

A 1��	 yE�! A
 D �Z8 � D(A.B) = D(A).B +A.D(B) )

�� t = � %��� 
��H X[P � t �	 CB*� 1��: yE�! �	
�)
��:&! �4�E� Ǳ��>EP� �	 $CP�

Dn(A.B) =
∑
i+j=n

n!
i!j!

Di(A).Dj(B) i ≥ �, j ≥ � q5$< r

�)

�� ,$�$G �	 ��	 %��(� q$CP� &���2 CD��� D� ��
; �CP� CP
� n = � Ǳ�;�	 )F?r

exp(tD) =
∞∑
n=�

(tD)n

n!
q,$< r

�Y
��	��	

exp(tD(A.B)) =
∞∑
n=�

(tD)n

n!
(A.B) =

( ∞∑
i=�

(tD)i(A)
i!

)⎛
⎝ ∞∑
j=�

(tD)j(B)
j!

⎞
⎠ = (exp(tD.A)).(exp(tD.B))

� $D ∈ Aut(L(A)) �( -2�&! %��� .$�$< ]�P��	 Y
� $exp(tD) ∈ Aut(A) 1� t ∈ R �2 Ǳ�;�	 �Z8 �

� CP� J�B�� T	�H )2 �e��>E*! �CP� L(A) &8�B� ;� 1�B��
; A J�>E�! �� 3��4! �F�
� ������	� �����
�	 �
 J�>E�! &8�B� �F�
� 1��	 CP� 1;��� C8�? Y
� 
� ,$�$< ��
��: $-D�	&! CP
� ��� A -#	 �	 -�H %�-	 &E?

$)��( ��-��H A 1�9�*�+
�!��� ���: �	 ��h� &8�B� %���3
1�9��-�! D(X) &8 �B� $-D�	&! X → R @	��� �B�−R ;� J
�B3 C∞(X) � CP� -�=��! A
 X )
��: ���
�	
&F
 %��E�! Aut(C∞(X)) �	 �
 Aut(X) �.$�$5 �	 ��	 �%��(� $CP� C∞(X) J�>E�! &8 �B� �	 �	��	 �X �	 1
���	

$CP� �
�
 
��*	 �( 1�!� ���( ��-��H %��E�! Aut(X) &8 �B� J
�n �	 �
 D(X) XL $C+�:
T � 3 A 
 Y 
� $C P� τ : G → Aut(X) T � 3 � 	 C B * � - � = � � !−G A 
 X ) � � ( `� + �� ?
���
� $-
���	 �h� 
� �
 �$G$, C�*H ;� σ : R(G) → D(X) )*�+
�!��2 $-�(&! Ǳ�>8� τ∗ : G → Aut(C∞(X))

$��( ��-��H %���&! τ∗ )*�+
�!��2 mP�� &
�>8� &8 1�2�B� Y�	 &�*�+
�!��2

�% �45 3� �?�@%� A��!8 ��P

$)��(&! ;�x^ R �>�? A
 1�
 A &8 �B� �
�! 
� &���� 1
�^��
 �	
$���� "
�#� %��E�! (ad(A))(B) = [A,B] ��U	�Q �	 ad(A) : A → A &U0 &ED��� �A ∈ A �W�3 �2 �	

�
�� A ����  8�G! Ad(A) �� �����
�J
�n �	 �
 &	�(�i ��I�� ()�*+�

[A, [B�, B�]] = [[A,B�], B�] + [B�, [A,B�]] qG$< r

� $-�(&! J�B�� �
 _��U! )F? �( �CD�� %���&!



�O� �2 
9� 8� �A�B2� C��+: �#�P

;� C*�
�B3 A ∈ A mP�� �-D "
�#� A 
� q�r &�0�� yE�! $CP� &8 �B� A
 A )
��: ������ �����
$ad(A) : A → A CD���

$-
���	 �h� 
� �
 A 1�9�*�+
�!�-�� &8 �B� 1�E	 ad : L → L(A) CD���

�
��  9 ����*' 5�� �3����!�	� ad : A → L(A) �� 
����
�C>�>? 
� $CP� &	�(�i ��I�� ;� 1��4�E� )2 Y
� ()�*+�

(ad[A�, A�])(B) = [[A�, A�], B] = [A�, [A�, B]] − [A�, [A�, B]]

= (ad(A�) ◦ ad(A�))(B) − (ad(A�) ◦ ad(A�)(B) = [ad(A�), ad(A�)](B)

$- D� 	& ! L(A) & 8� B � � 
; � C P� A J� > E � ! & 8 � B � Aut(L(A)) � ( �ad(A) ⊆ Aut(L(A)) � ( ) 
- 
� Ke B H
� $)�2�&! %��� ad : A → Aut(L(A)) �	 ��� �
 ad : A → L(A) mP�� &
�>8� )*�+
�!��2

$)�!��&! A &H�I8� �
��� �
 ad : A → Aut(L(A)) )*�+
�!��2 $CP� &8�B� A
 A )
��: ������ �����
$CP� A 
� A ;� &�
��� Y
�

$-2�&! T�F�� &8 �B� �Z8 � CP� A &�0�� J�>E�! ��3��4! �)*�+
�!��2 Y
� �
�W�
�a�! J
�n Y
� �	 � CP� A �(�! ���	 A ;� &8^ �-
� Y
� $CP� )*�+
�!��2 Y
� �� E*2 ���
��� Z(A) )
��:

$[A,B] = � 1� B ∈ A �2 Ǳ�;�	 �:� �9�� � �:� A ∈ Z(A) ����:&!
;� C*�
�B3 &8�B� Y
� 5$�$< �	 ��	 $CP� &8 �B� Aut(G) �.$�$< �	 ��	 $CP� &8 ���: G )��( `�+ ��?

$G ��0 L(G) &8 �B� Aut(L(L(G))) J�>E�! ��3��4!
&�*�+
�!��2 Y
� �TBH zI	 �	 ��	 $Ad : G→ Aut(L(G)) &�#
 $-
���	 �h� 
� �
 L(G) 
� G &H�I8� �
���

$-�(&! Ǳ�>8� L(Ad) : L(G) → Aut(L(L(G)))

$L(Ad) = ad �)+-. �����

��$,$, �	 ��	 $L(Ad) "
�#� �	 ��	 L(Ad)(A) = d
dt(Ad(exp(tX)))t=� �J
�n Y
� 
� $A ∈ L(G) )
��: ()�*+�

� $CP� adA CP
� �W�3 Y�!��

�L(Ad(G)) = ad(L(G)) )��6 5�� �� �
�� 14*	�  9 ���� G ����� �)*+,( �����
�)

�� ,$,$7 �	 ��	 ()�*+�

L(Ad(G)) = L(ImAd) = Im(L(Ad)) = Im(ad) = ad(L(G)) q7$< r

� $CP� ���� %�2�	 �

/F  9 �*' �
�� G ��  9 ������� ZG �> �3� )��6 5�� �� �
�� 14*	�  9 ���� G ����� �)*+,( �����
�
�� L(G) �> �3�

&8 � B� � 	 G ;� � E* 	 &�2��:� 
; ZG �5$,$7 yBN � 	 �Y
�� 	� � 	 $ZG = Ker(Ad) �( )� ��- � ! �O$�$G ;� ()� * +�
� $CP� L(G) �� E*2 Ker(ad) &8� $CP� L(ZG) = L(Ker(Ad)) = Ker(L(Ad)) = Ker(ad)

�	r -2�&! T�F�� &8 1�2�B� Y�	 G/ZG ∼= Ad(G) &�*�+
�!��
� Ad : G → Aut(L(G)) �( -��( ����
$q-��( ���� 7$7$7
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�exp(ad(A)) = Ad(exp(A)) �� A ∈ L(G) �� Ǳ���� �)*+,( �����
$CP� exp %��	 &#�BN Y
� ()�*+�
$)��(&! ���=EP� T
s )8 �� ;�

 G��	� τ : G → GL(V ) .14*	�  9 ���� �� G . ��4�! 1#� �� ������ ��^�−R�� V ����� �� �����
 �U� �H4 � �  �U� W ⊂ V ������ ��^� �
�� V �� L(G)  U�h9� J��	� L(τ) : L(G) → L(V ) � V �� G ��
��-�� A ∈ L(G) �� Ǳ���� ��� �H4�� ��� τgW ⊂W �� g ∈ G �� Ǳ���� (�� m�U� �1-�� ������−L(G) �� 
�� ������−G

�(L(τ)A)W ⊂W ��-��

�J
�n Y
� 
� $w ∈W � A ∈ L(G) � CP� ��
���−G �W ⊂ V -��( `�+ ()�*+�

(L(τ)A)w =
d

dt
{τexp(tA)}t=� w =

d

dt

{
τexp(tA)w

}
t=�

q<$< r

$(L(τ)A)w ∈W Y
��	��	 � CP� t = � Ǳ�;�	 W 
� t �→ τexp(tA)w &�I�! �	 ]��! 
���	 �(
�	 ��	 %��(� $(L(τ)A)W ⊂ W 1� A ∈ L(G) �2 Ǳ�;�	 &�#
 $CP� ��
���−G �W ⊂ V -��( `�+ �XF#8�	
�2 Ǳ�;�	 �( CP� &�#! Y
-	 Y
� qG$�$G &�#
r exp %��	 &#�BN �	 ��	 $exp(L(τ)A)W ⊂ W g�Q� �	 �,$�$G

$τexp(A)W ⊂W 1� A ∈ L(G)

G 
� e ;� 1� &�
�*�2 G̃ �TBH zI	 �	 ��	 $CP� G ���:�
; G̃ J
�n Y
� 
� $G̃ = {g ∈ G|τgW ⊂W} )
��:
� $G̃ = G �Z8 � �
�� �	 
� �


� �� � � �1 4 �3� G′ � G �� &� �� � � 1 4 * 	 �  9 ��� �� �� H ′ � H � 1 �� 9 ��� � G′ � G � �� � � ��  ������
�L(ρ)L(H ′) ⊂ L(H ′) ��-�� ��-�� �� ρ(H) ⊂ H ′  �U� �H4� �  �U� .)��6 5�� �� �
�� �3����!�	� ρ : G→ G′

� $CP� &9
-	 )F? Y
� ,$,$7 ;� ()�*+�
�-
� &EH� �9�� � &EH� I ⊂ A 1
���	 1�6+�
; �F�
� YE=: �	 �
 I �^ �-
� ,$7$7 "
�#� $CP� &8�B� A )
��:

$-D�	 ��
���−ad(A) �( CP� �^
&8^ �-
� �G &8 ���: A
 ;� �E*	 ��!�� ���:�
; �2 &8 �B� �( )
��( �h?K! G$7$7 
� $CP� &8 ���: G )
��:

�)��( C	�� )�����&! %��(� $CP� L(G) ;�

 �U� .)��6 5�� �� �1-�� ! G �� 14*	�  9 ������� H � 
�� 14*	�  9 ���� �� G ����� ������ ������
�1-�� L(G) 0F �1�� L(H ′) �� 
�� G 0�!�� ������� H  �U� �H4� �

�� � � L(Ad) = ad �F� 
� � 	 �h� $-D� 	 ��
�� �−adL(G) �( CP� L(G) �^ �-
� &EH� �9� � � &EH� L(H ′) ()�* +�
�!� $Ad(g)(L(H ′)) ⊂ L(H ′) 1� g ∈ G �2 Ǳ�;�	 ���
� J
�B#	 $CP� L(H ′) &
��
���−Ad(G) �	 ���#! Y
� ��$�$<
�:� �9�� � �:� Ad(g)(L(H ′)) ⊂ L(H ′) �( )��(&! �h?K! �O$�$< ;�2��=EP� �	 � Ad(g) ⊂ L(τg) "
�#� �	 ��	

$Inng(H) ⊂ H

� $Inng(H) ⊂ H 1� g ∈ G �2 Ǳ�;�	 �:� �9�� � �:� CP� L(G) �^ �-
� L(H ′) Y
��	��	

�
�� (Aut(L(G)))� 0�!��  9 ������� Ad(G) )��6 5�� �� �
�� 14*	�  9 ���� G ����� �)*+,( ������
G$�$< � 	 � � 	 %� � (� $- D� 	& ! (Aut(L(G)))� 
� �� � � ! Y 
�� 	� � 	 � C P� - � B � 2 Ad(G) ()� * +�
;� �^ �- 
� A 
 ad(L(G)) � ( ) � 2� %� � � C P� �;� � 9 � � ��$�$< � 	 � h � $L(Ad(G)) = ad(L(G)) ) 

��

$CP� CP
� A ���a8� &8 �B� �2 1��	 Y
� $CP� (Aut(L(G))) = Aut(L(L(G)))
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9� 8� �A�B2� C��+: �#�P

��( )�2� %��� CP� �;� �J
�n Y
� 
� $A ∈ A � D ∈ Aut(L(L(G)) )
��:

[D, ad(A)]B = D[A,B] − [A,D(B)] = [D(A), B] = ad(D(A))(B) q�$< r

� $[D, ad(A)] = ad(D)(A) -2�&! %��� �(

$-D�	 �E*	 Aut(L(G)) 
� �( �
�-� &!��8 Ad(G) ���: ������	� �
����

�% 2��' 3� �����������
� 2��'

$-D�	&! G q��D ���� ,$.$G �	 �EB8� u&8 ���: 
�E0�Pr 1�9�*�+
�!��� ���: Aut(G) � CP� &8 ���: G )
��:
-�B�2 G �:� $-�(&! "
�#� L(G) 1�9�*�+
�!��� ���: 1�E	 L : Aut(G) → Aut(L(G)) &�*�+
�!��2 L 
�EF��+

$CP� A
 �	 A
 )*�+
�!��2 Y
� �( -2�&! %��� �$�$G �-D�	

Aut(S�) → Aut(LS�) = GL(R) = R∗ J
�n Y
� 
� $-
���	 �h� 
� �
 S� = R/Z &8 ���: ��	
� ������
�	r CP� −1R mP�� S� �	 &
�>8� CD��� ���
��� −1

S�
�( �Aut(S�) = {1

S�
,−1

S�
} @H�� 
� $CP� A
 �	 A


$q-��( ���� �<$�$<
$CP� )*�+
�!��
� 7$�$7 �	 ��	 L : Aut(G) → Aut(L(G)) )*�+
�!��2 �-D�	 &2�
 -�B�2 � -�B�2 G �:�

$Aut(R) = R∗ J
�n Y
� 
� $G = R ��	
� ������
<$�$7 �	 ��	 exp : L(G) → G J
�n Y
�
� $CP� �
ZL ~
�#� � ���P -�B�2 �-�B�2 &8 ���: G )
��: ���&�(

$CP� )*�+
�!��
� Aut(G) → Aut(L(G)) = GL(L(G)) $CP� )*�+
�!��
�
"
�#� L(G) ;� L(ϕ) &�*�+
�!��� �G 1��	 ϕ )*�+
�!��� �2 $CP� �
ZL ~
�#� � -�B�2 &8 ���: G )
��:
�	 �h� $L(ϕ)(Ker(exp)) ⊂ Ker(exp) �J
�n Y
� 
� $-
���	 �h� 
� �
 exp : L(G) → G )*�+
�!��2 $-�(&!

����:�
� 1�
ZL ~
�#�

�)��(&! C	�� �
 T
s )F? ;� &���

� 3 � ��� !� 	 � � �� E � )�� 6 5 �� �� �
 �� � �M N O �� # � 1 4 * 	 �  9 ��� � G � �� � � ����� � ������
����� ! ���G� ϕ̃(Ker(exp)) ⊂ Ker(exp) �� L(G) �� ϕ̃ ��H	3����!��� �>	� �� L : Aut(G) → GL(L(G))

�	 ϕ ∈ Aut(G) A
 �Ker(exp) ⊂ Ker(exp) �	 ϕ̃ ∈ GL(L(G)) �2 Ǳ�;�	 �( )�2�&! %��� 
�h�! Y
� 1��	 ()�*+�
exp ◦ϕ̃ J
�n � 	 ϕ : G → G 1�� 
�4 � �( - � (&! _�4 
� (exp ◦ϕ̃)(Ker(exp)) = e � !� $�
�� ���� L(ϕ) = ϕ̃

� $L(ϕ) = ϕ̃ g�Q� �	 �Z8 � �
�� ���� exp w*?�	
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&+�( �9�� $�
�� ���� �CP� ���a8� -�B�2 &8 ���: G �( �Aut(G) 1��	 &9	��! ��Wa�! ������	� ������
$C+�: �h� 
� �
 &�D�L G̃→ G )*�+
�!��2 � G̃ ��3 &�D�L ���: CP�

�)�2�&! %��� $�;�P&! )2��+ �
 G ∼= L(G)/Ker(exp) J
�n �	 Aut(G) Y��#� %�F!� �G$�$< ��
��:

�Aut(G) ∼= Aut(Zn) )��6 5�� �� �G = Tn ����� ������ ������
�%��(� $Tn ∼= L(G)/Zn J
�n Y
� 
� $)�2�&! %��� Zn �	 �
 CP� �
�!��
� Zn �	 �( L(G) ;� &2��:�
; ()�*+�

Aut(Tn) = {ψ ∈ GL(L(G))|ψ(Zn) ⊂ Z
n} q�O$< r

� $Aut(Tn) ∼= Aut(Zn) �( -2�&! %��� Y
�
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�+ -(�� # ��+)��. /
'�'0

�;� ��D&! T�F�� R 1
����( ������ ������

u $$$ � �C �B �A Ǳ��D� ;� &PK( (i)

�-�!�� B ��	 � A �� �!�� �	 �
 B �	 A ;� )*�+
�! %^ Ǳ�63� �( �[A,B] 1��3��4! �Ǳ��D� ;� (A,B) C=� �2 Ǳ�;�	 (ii)

�-�E*2 ��4! �� �	 �� �2�3��4! Y
� �( �qA α→ B �
 α : A → B ��D&! �ED�� α ∈ [A,B] Ǳ�;�	 �r -��D&!
u[A,B] ∩ [A′, B′] = ϕ �( -�(&! _�4
� (A,B) 	= (A′, B′)

�CD��� A
 �Ǳ��D� ;� (A,B,C) &
�� �P �2 Ǳ�;�	 (iii)

[A,B] × [B,C] → [A,C] (α, β) �→ βα q�$� r

u�2)*�+
�! w�(�� ���	

uA &���2 )*�+
�! ���	 1A ∈ [A,A] 1�W�3 �A Ǳ&D �2 Ǳ�;�	 (iv)

�-��( t-n -#	 Tn� �� 
� -
�	 J�3KN� Y
�

�����^ �γ ∈ [C,D] � β ∈ [B,C] �α ∈ [A,B] �:� q�r

γ(βα) = (γβ)α q�$� r

$1Bα = α � α1A = α ����^ �α ∈ [A,B] �:� q�r

%���&! ���^ � CP� �EF
 q�r S�D �	 ��	 �-�(&! Y��#� (iv) �
 k���� �( 1A )*�+
�! ������	� ������
$1′A1A = 1′A = 1A ����^ -D�	 C�n�0 %��2 �	 &!�� )*�+
�! 1′A �:� ��
; $C+�: )*�+
�! Y
� "
�#�

�O,
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w�(�� �	 �2�3��4! Y�	 1�9ED��� �9�^ 1�2)*�+
�! � �3��4! %^ Ǳ��D� �( Set 1
����( ��	
� ������
$-�E*2 &8��#!

)2 %^ w�(�� � CP� �92��: Y�	 1�9�*�+
�!��2 %^ 1�9�*�+
�! � ���: %^ Ǳ��D� �( �92��: Gro 1
����(
$�9�*�+
�!��2 &8��#! w�(��

1�2�6+ 1
����( ���	 1
����( A
 �	 �)
���	 )*�+
�! �
 �EP��L 1�9ED��� � Ǳ&D �
 1i�8�L�� 1�2�6+ �{���o
$)�P
&! Top 1i�8�L��

1�9ED��� � Ǳ��D� %���#	 
���2 1�2-�=��! ;� w(�! Man �
ZL T�*���=
� 1�2-�=��! 1
����( ��	��! J
�n �	
$���:&! &+�#! ��9�*�+
�! %���#	 
���2

q�r 1;
� )2 &�
�n 
� �
 α : A → B )*�+
�! $-�E*2 %^ ;� &'��D� B � A � 1
����( A
 R -��( `�+
α : A → B 1;
� )2 A
 �:� $�
�� ���� αβ = 1B � βα = 1A �	 1� β : B → A �( )�'�: q�r )*�+
�!��
� � 

)*�+
�!��� �
 α : A→ A 1;
� )2 �2 $A ∼= B )�*
��&! � -�+
�!��
� �
 ; 
� )2 B � A )�'�:&! �-D�	 �ED�� ����

$)�'�:&!

CP� J
�B3 R′ �	 R ;� F : R → R′ q.r %�

��( 
�EF��+ $-�E*2 1
����( R′ � R )
��: ������ ������
��p��� ;�

uR ;� A Ǳ&D �2 �	 R′ ;� F (A) Ǳ&D A
 (i)

uR ;� α : A→ B )*�+
�! �2 �	 R′ ;� F (α) : F (A) → F (B) )*�+
�! A
 (ii)

�-D�	 
��H�	 �
; S�D �� �F�
� �	 S���!

� F (1A) = 1F (A) q�r

$F (βα) = F (β)F (α) q�r

��	 q�r S�D �{���o

F (βα) = F (α)F (β) (�)′ q.$� r

$)�!���! q5r %�

�� ��E�( 
�EF��+ �
 F : R → R′ ����: ~
�#�

TFD �	 hA : R → Set &��

��( 
�EF��+ $CP� R ;� &'&D A � 1
����( A
 R )
��: ��	
� �
����
"
�# � �α : X ′ → A � ϕ : X → X ′ Ǳ�;� 	 � hA(X) = [A,X ] �R ;� X Ǳ&D �2 Ǳ�;� 	 ���� � "
�# � %�� �&! � 
;
" 
� # � � 	 �� 	�� ! J
�n � 	 $hA : (ϕ) : [A,X ] → [A,X ′] �4 � 
� 
� � ( ��D ��� � $hA(ϕ)(α) = αϕ ) � � (&!

�EF��+ A
 %���&! �α : X ′ → A � ϕ : X → X ′ 1��	 hA(ϕ)(α) = αϕ � R ;� X Ǳ&D 1��	 hA(X) = [X,A]

$hA(ϕ) : [X ′, A] → [X,A] �4�
� 
� $��( "
�#� hA : R → Set %�

�� ��E�(

$-�E*2 R′ �	 R ;� q%�

��(r 
�EF��+ �� F � G : R → R′ � -�E*2 1
����( R′ � R )
��: ������ ������
;� X Ǳ&D �2 �	 ϕX : F (X) → G(X) )*�+
�! A
 %��( �p��E! �G �	 F ;� ϕ : F → G &#�BN T
-B� A
 ;� 
�h�!

�-D�	 �
ZL ~
�#� �
; ���:�
� 1� ϕ : X → Y �2 Ǳ�;�	 ��( 1����: �	 CP� R
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L(G) L(G)

G G
�

exp

�
L(ϕ)

�

exp

�ϕ

D : ModK → ModK � 1
���	 1�6+−K 1
����( ModK ��
ZL ~
�#� &��-�! K )
��: ��	
� ������
"
�#� &U0 CD��� �2 �	 %�: �� CD��� � %^ �	 X 1
���	 1�6+ �2 X∗ %�: �� %��( �p��E! �	 �( CP� 
�EF��+
&	�
 
�->! CD��� $-2�&! CB*� �
 �!�� %�:�� �1
���	 1�6+ �2 �	 D� : ModK → ModK 
�EF��+ $���:&!

$-�(&! "
�#� ε : 1K → D� &#�BN T
-B� �x∗ ∈ X∗ � x ∈ X 1��	 ε(x)(x∗) =< x, x∗ >

1;
� )2 &�
�n 
� �
 ϕ : F → G &#�BN T
-B� $���� w�(�� )2 �	 %���&! &9
-	 TF�	 �
 &#�BN JK
-B�
T
-B� ���
��� 1G � 1p �( �ϕψ = 1G � ψϕ = 1p �( ���: C+�
 %��o ψ : G → F &#�BN T
-B� �( )�'�: &#�BN

$-�E*2 w���E	 G→ G � F → F &#�BN

K Ǳ&D �2 Ǳ�;�	 �( )�'�: &
�9� &�
�n 
� �
 R ;� T Ǳ&D $CP� 1
����( R )
��: �:�4 # /�; ������
�	 &
�9�� Ǳ&D �� �2 � 1T ;� C*�
�B3 T → T )*�+
�! �9�� XL $-D�	 �ED�� ���� K → T )*�+
�! A
 �e>�H� �R ;�

$-�; 
� )2 )2
%^ Ǳ� � D� � ( P (Kj) 1
�� �� ( $CP� I �� 3� �4 ! m P� � �-D X
- �� R Ǳ� � D� ;� 1����� �� 0 (Kj)j∈I ) 
� � :
)*� +
� ! �2 � - � E*2 Q d�E�! �� � !�� � 	 K 1�9�*� +
� ! ;� {qj : Q → Kj|j ∈ I} 
�Z : X
- �� 1�2���� ��0

� &
�9� Ǳ&D �2 $q′jα = qj 1� j ∈ I �2 Ǳ�;�	 �( α : Q→ Q′ )*�+
�! A
 ;� CP� J
�B3 P (Kj) 
� (qj) → (q′j)

�Y
��	��	 $CP� �2 Kj ;� &	�6�n�? �P (Kj)

�CP� j ∈ I Ǳ�;�	 pj : P → Kj 1�9�*�+
�! ����2 �	 R ;� P &'&D (Kj)j∈I _�6�n�? ������ ������
qj = pjα TFD �	 ��=	 �WI�! 1� α : G → P A
 Ǳ�;�	 �
 qj : Q → Kj 1�9�*�+
�! ;� ������0 �2 �( 1����: �	
Ǳ&D ��
� �	 $CP� ��=	 �WI�! P(Kj) 
� 1;
� )2 -? 
� ���
� &
�9� Ǳ&D �2 ��BD _�6�n�? $CD�� %��E	

$CP� �EF
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� 1;
� )2 -? 
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�! A
 �e>�H� 1� K Ǳ&D �2 Ǳ�;�	 �( )�'�: 1;�x^ &�
�n 
� �
 R ;� S Ǳ&D $CP� 1
����( A
 R )
��:

$-�; 
� )2 �1;�x^ Ǳ&D �� �2 � CP� 1S %��2 S → S )*�+
�! �9�� �XL $-D�	 �ED�� ���� S → K

%^ Ǳ��D� �( Γ(Kj) 1
����( $CP� I �� 3��4! mP�� �-D 1
�Z: X
-�� R Ǳ��D� ;� 1�������0 (Kj)j∈I )
��:
)*�+
�! �2 � CP� R �9�^ �� �2 ��	 �( -�E*2 R 1�9�*�+
�! ;� {Pk : Kj → R|j ∈ I} 
�� X
-�� 1�2������0
;� 1;�x^ �W�3 �2 $αρj = ρ′j 1� j ∈ I �2 Ǳ�;�	 �( CP� α : R → R′ &�*�+
�! ;� J
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� (ρj) → (ρ′j)

�Y
��	��	 $CP� �2 Kj ;� ���4! A
 �1
����( Y
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j ∈ I �2 Ǳ�;�	 σj : Kj → S 1�9�*�+
�! ����2 �	 R ;� S Ǳ&D A
 (Kj)j∈I @�4�n�? ������ ������
%��E	 ασj = ρj J
�n �	 1� α : S → R A
 Ǳ�;�	 �
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$CP� �EF
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